-547817
080-613
080-863
110-240
12-0041-016
12-0042-016
12-0043-016
12-0044-016
12-0062-016
12-0064-016
12-0069-016
12-0070-016
12-0073-016
12-0074-016
12-0075-016
12-0076-016
12-0083-003
12-0084-003
12-0084-003
12-0084-303
12-0084-403
12-0089-052
12-0323-001
12-0323-E01
12-0323-V01
12-0338-016
12-0362-000
12-0405-016
12-0408-016
14-0036-050
14-0036-050
14-0036-050
14-0050-016
14-0050-016
14-0051-016
14-0051-016
14-0051-016
14-0051-016
14-0051-016
14-0051-016
14-0053-016
14-0053-016
14-0053-016
14-0053-016
14-0056-000
14-0067-027
14-0069-052
14-0069-052
14-0069-052
14-0070-052
14-0070-052
14-0114-050
14-0114-050
14-0122-016
14-0122-016
14-0124-003
14-0124-003
14-0124-303
14-0124-403
14-0124-403

Elevator Assy, Atomx

Battery, Lithium, SIZE 2032

Union, 1/4"-1/4", SS, goes on side arm of glassware
4-port base mounting screw, 6-32 x 1-375 flat head
Ferrule, teflon, 1/4", glassware

Union, 1/16" - 1/8" tube stub, brass

Ferrule set, 1/8", PTFE, 2 pieces (top of needle)
Ferrule set, 1/8", brass, set

Ferrules, 1/16", brass

Bulkhead, 1/8" - 1/8" Tube stub, Brass

Nut, 1/8", brass

Tee, 1/8", Brass

Union, 1/8" brass

Union, bulkhead, 1/8" brass

Conn, Male, 1/8" Tube to 1/8" NPT

Cap, 1/8", brass

Trap, Tenax (#1)

Trap, Tenax/Silica gel (#2)

Trap, Tenax/Silica gel (#2)

Trap, Tenax/Silica gel (#2)

Trap, Tenax/SG, 12" LG, Stamp "2", U Shape
10ul calibration syringe

Screw, 6-32 x3/8" 100 flat HD

Screw, 6-32 x 3/4, SS

Screw, 100 Deg. flat head (priced each, pkg. of 10)
Union, bulkhead, 1/8", SS

Back clip

Nut, 1/8", SS for bottom of trap

Ferrule set, 1/8", SS

Sample valve, 3-port

Sample valve, 3-port

Sample valve, 3-port

Union, 1/8" - 1/16", SS

Union, 1/8" - 1/16", SS

Union, 1/16-1/16 SS

Union, 1/16-1/16 SS

Union, 1/16-1/16 SS

Union, 1/16-1/16 SS

Union, 1/16-1/16 SS

Union, 1/16-1/16 SS

Elbow, male, 1/8", NPT, brass

Elbow, male, 1/8", NPT, brass

Elbow, male, 1/8", NPT, brass

Elbow, male, 1/8", NPT, brass

1/8" NPT to 1/8" Compression

Allen wrench for sample valve

5ml gastight syringe w/luer connector

5ml gastight syringe w/luer connector

5ml gastight syringe w/luer connector

25ml gastight syringe w/luer connector

25ml gastight syringe w/luer connector
Syringe valve, 2-port, with luer connector
Syringe valve, 2-port, with luer connector

Male luer fitting for syringe valve

Male luer fitting for syringe valve

Trap, Tenax/Silica gel/charcoal, 12" x 1/8" (#3)
Trap, Tenax/Silica gel/charcoal, 12" x 1/8" (#3)
Trap, Tenax/Silica gel/charcoal (#3)

Trap, Tenax/SG/Char 1/8" Stamp "3", U Shape
Trap, Tenax/SG/Char 1/8" Stamp "3", U Shape



14-0140-034
14-0158-016
14-0158-016
14-0158-016
14-0158-016
14-0158-016
14-0158-016
14-0158-016
14-0158-016
14-0159-016
14-0159-016
14-0216-016
14-0216-016
14-0216-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0241-016
14-0242-016
14-0242-016
14-0243-016
14-0243-016
14-0243-016
14-0243-016
14-0243-016
14-0243-016
14-0243-016
14-0243-116
14-0243-116
14-0243-116
14-0243-116
14-0264-016
14-0264-016
14-0264-016
14-0264-016
14-0298-039
14-0298-039
14-0298-039
14-0298-039
14-0298-039
14-0298-039
14-0298-039
14-0298-039
14-0356-016
14-0440-002
14-0440-002
14-0518-050
14-0518-050
14-0518-050
14-0521-016
14-0539-002
14-0539-002
14-0539-002
14-0540-016
14-0540-016

Fuse, 2.0 amp

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Ferrule, 1/16", SS, Set

Nut, 1/16", SS, Swagelok

Nut, 1/16", SS, Swagelok

Female luer connector for sample valve

Female luer connector for sample valve

Female luer connector for sample valve

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Ferrule, 1/16", SS

Nut, long, for 1/16" tube, Valco

Nut, long, for 1/16" tube, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", short, SS, Valco

Nut, 1/16", Short Gold plated

Nut, 1/16", Short Gold plated

Nut, 1/16", Short Gold plated

Nut, 1/16", Short Gold plated

Union, bulkhead, 1/16", SS, Upchurch

Union, bulkhead, 1/16", SS, Upchurch

Union, bulkhead, 1/16", SS, Upchurch

Union, bulkhead, 1/16", SS, Upchurch

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Cord, power, universal, 115V

Union, bulkhead, 1/8", filter assembly

Tubing, 1/16" OD, .041D, NATL, FEP VAC BAKE
Tubing, 1/16" OD, .041D, NATL, FEP VAC BAKE
Relief valve

Relief valve

Relief valve

Ferrule, graphitized vespel .4mm ID for 1/16" bulkhead conn.
Tubing, fused silica, 0.32mm ID, (price/3 meters), 3 meter lengths
Tubing, fused silica, 0.32mm ID, (price/3 meters), 3 meter lengths
Tubing, fused silica, 0.32mm ID, (price/3 meters), 3 meter lengths
Ferrule, 0.5mm ID, graphite/vespel

Ferrule, 0.5mm ID, graphite/vespel



14-0546-002
14-0583-002
14-0583-002
14-0583-002
14-0583-002
14-0722-009
14-0798-016
14-0798-016
14-0799-016
14-0799-016
14-1168-003
14-1168-103
14-1168-303
14-1197-039
14-1197-039
14-1197-039
14-1197-039
14-1197-039
14-1197-039
14-1282-034
14-1301-016
14-1301-016
14-1301-016
14-1313-002
14-1313-002
14-1356-016
14-1362-000
14-1362-000
14-1362-000
14-1362-000
14-1362-000
14-1418-016
14-1418-016
14-1418-016
14-1442-016
14-1457-003
14-1457-003
14-1457-303
14-1590-016
14-1590-016
14-1590-116
14-1590-116
14-1590-116
14-1591-110
14-1591-110
14-1591-410
14-1591-410
14-1591-510
14-1591-510
14-1591-610
14-1652-004
14-1652-004
14-1668-000
14-1668-000
14-1668-000
14-1719-050
14-1719-050
14-1755-003
14-1755-003
14-1755-303

Tubing, copper, 1/8" (per foot, min. 5 ft.)

Tubing, 1/8" OD, .062" ID, Natural FEP (per foot)

Tubing, 1/8" OD, .062" ID, Natural FEP (per foot)

Tubing, 1/8" OD, .062" ID, Natural FEP (per foot)

Tubing, 1/8" OD, .062" ID, Natural FEP (per foot)

Washer, no. 6 flat zinc

Nut, 1/16", SS, Upchurch

Nut, 1/16", SS, Upchurch

Ferrule, 1/16", SS, Upchurch

Ferrule, 1/16", SS, Upchurch

Trap, blank, 12" x 1/8" (#0)

Blank 1/8" x 12" Silcosteel lined trap (XPT)

Trap, blank (#O)

Cord, Power, 115V 15 A, European Recept

Cord, Power, 115V 15 A, European Recept

Cord, Power, 115V 15 A, European Recept

Cord, Power, 115V 15 A, European Recept

Cord, Power, 115V 15 A, European Recept

Cord, Power, 115V 15 A, European Recept

Fuse holder (panel mount)

Ferrule, 1/2" Set, Teflon

Ferrule, 1/2" Set, Teflon

Ferrule, 1/2" Set, Teflon

Tubing, copper, 1/4" (priced/foot) 5 ft. minimum

Tubing, copper, 1/4" (priced/foot) 5 ft. minimum

Union, bulkhead, 1/4", brass

Hydrocarbon trap

Hydrocarbon trap

Hydrocarbon trap

Hydrocarbon trap

Hydrocarbon trap

Ferrule set, 1/4", brass, Swagelok

Ferrule set, 1/4", brass, Swagelok

Ferrule set, 1/4", brass, Swagelok

Tee, 1/16", zero dead volume, Valco

Trap, Tenax/charcoal, 12" x 1/8" (#4)

Trap, Tenax/charcoal, 12" x 1/8" (#4)

Trap, Tenax/charcoal (#4)

Nut, plug, Valco

Nut, plug, Valco

Nut, Male Plug, 1/16" Gold Plated

Nut, Male Plug, 1/16" Gold Plated

Nut, Male Plug, 1/16" Gold Plated

Septum nut, Varian 1040/1041 injection port

Septum nut, Varian 1040/1041 injection port

Septum nut, Varian SPI 1075/1077 and Tracor 540 injection ports
Septum nut, Varian SP1 1075/1077 and Tracor 540 injection ports
Septum nut, Perkin-Elmer, all Sigma/8000 Series, & Autosystem ports
Septum nut, Perkin-Elmer, all Sigma/8000 Series, & Autosystem ports
Septum nut, Shimadzu 9A, 14A and 17A packed injection ports
Insulation, pipe, 3/8" ID, 6' length

Insulation, pipe, 3/8" ID, 6' length

LN(2) transfer line assembly to capillary interface, insulated
LN(2) transfer line assembly to capillary interface, insulated
LN(2) transfer line assembly to capillary interface, insulated
Valve board assembly for 2 position valve, 110V

Valve board assembly for 2 position valve, 110V

Trap, OV-1/Tenax/Silica gel, 12" x 1/8" (#6)

Trap, OV-1/Tenax/Silica gel, 12" x 1/8" (#6)

Trap, OV-1/Tenax/Silica gel (#6)



14-1758-116
14-1787-016
14-1787-016
14-1787-016
14-1812-000
14-1812-000
14-1812-000
14-1967-016
14-2052-024
14-2052-024
14-2052-024
14-2053-024
14-2053-024
14-2053-024
14-2072-002
14-2072-002
14-2072-002
14-2072-002
14-2074-016
14-2074-016
14-2074-016
14-2261-016
14-2261-016
14-2261-016
14-2261-116
14-2333-024
14-2333-024
14-2333-024
14-2333-024
14-2333-024
14-2333-024
14-2334-024
14-2334-024
14-2334-024
14-2334-024
14-2334-024
14-2334-024
14-2336-024
14-2336-024
14-2336-024
14-2336-024
14-2336-024
14-2336-024
14-2337-024
14-2337-024
14-2337-024
14-2337-024
14-2337-024
14-2337-024
14-2366-003
14-2366-003
14-2366-303
14-2366-403
14-2366-403
14-2440-006
14-2440-006
14-2454-010
14-2454-010
14-2470-019
14-2531-800

Tee, with graphite ferrules

Nut, 1/4", brass, Swagelok

Nut, 1/4", brass, Swagelok

Nut, 1/4", brass, Swagelok

Cryo-2 vent assembly

Cryo-2 vent assembly

Cryo-2 vent assembly

Cap plug, 1/8"

Sparger, 5mL needle, 1/2" (glassware only)
Sparger, 5mL needle, 1/2" (glassware only)
Sparger, 5mL needle, 1/2" (glassware only)
Sparger, 25mL needle, 1/2" (glassware only)
Sparger, 25mL needle, 1/2" (glassware only)
Sparger, 25mL needle, 1/2" (glassware only)
Tubing, fused silica, 0.53mm ID, (price/meter
Tubing, fused silica, 0.53mm ID, (price/meter
Tubing, fused silica, 0.53mm ID, (price/meter
Tubing, fused silica, 0.53mm ID, (price/meter
Ferrule, granite vespel, 0.8mm |.D.

Ferrule, granite vespel, 0.8mm |.D.

Ferrule, granite vespel, 0.8mm |.D.

Union, 1/4 -1/16 Reducing, SS, W/ Teflon Fer
Union, 1/4 -1/16 Reducing, SS, W/ Teflon Fer
Union, 1/4 -1/16 Reducing, SS, W/ Teflon Fer
Union, reducing, 1/4" - 1/16", w/o ferrules
Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 25mL fritless, 1/2" (glassware only)
Sparger, 25mL fritless, 1/2" (glassware only)
Frit Sparger, 25mL, 1/2" neck, Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar

Frit Sparger, 25mL, 1/2" neck, Tekmar
Fritless Sparger, 5mL, 1/2" Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Fritless Sparger, 5mL, 1/2" Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

Frit Sparger, 5mL, 1/2" Neck Tekmar

~— — ~— ~—

Trap, OV-1/Tenax/Silica gel/charcoal, 12" x 1/8" (#5)
Trap, OV-1/Tenax/Silica gel/charcoal, 12" x 1/8" (#5)

Trap, OV-1/Tenax/Silica gel/charcoal (#5)

Trap, Char-SC-TNX-OV1 12X1/8, "#5" U Shape
Trap, Char-SC-TNX-OV1 12X1/8, "#5" U Shape
Ceramic Standoff for valve oven plate

Ceramic Standoff for valve oven plate

Thumb nut #6-32

Thumb nut #6-32

Fan, low profile, plumbing cooling

Cryo valve assembly, 12 VDC



14-2531-800
14-2531-800
14-2531-900
14-2535-016
14-2535-016
14-2535-016
14-2549-016
14-2549-016
14-2658-050
14-2682-000
14-2755-028
14-2767-000
14-2767-000
14-2767-000
14-2776-050
14-2776-050
14-2776-050
14-2792-016
14-2792-016
14-2792-016
14-2792-016
14-2792-016
14-2887-016
14-2931-016
14-2950-016
14-2950-116

14-2976-000
14-2977-000
14-2977-100
14-2978-000
14-2978-100
14-2979-000
14-2979-100
14-2980-000
14-2980-100
14-2987-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2991-000
14-2993-000
14-2993-000
14-2993-000
14-2993-000
14-2993-000
14-2993-000
14-2993-000
14-2993-000
14-3027-000
14-3043-034
14-3071-016
14-3093-100
14-3094-100

Cryo valve assembly, 12 VDC

Cryo valve assembly, 12 VDC

Dual Cryo valve assembly

Fitting, Tube 1/8" NPT 1/4", Brass

Fitting, Tube 1/8" NPT 1/4", Brass

Fitting, Tube 1/8" NPT 1/4", Brass

Elbow, 90 degree, tube, 1/8 NPT to 1/16

Elbow, 90 degree, tube, 1/8 NPT to 1/16

Valve slider, 6-port, T Type

Tenax TA, 60/80 mesh, 159

Power switch

Cable, Cryo module to controlling instrument

Cable, Cryo module to controlling instrument

Cable, Cryo module to controlling instrument

Cryogenic valve

Cryogenic valve

Cryogenic valve

Nut, Plug, 1/16", Brass

Nut, Plug, 1/16", Brass

Nut, Plug, 1/16", Brass

Nut, Plug, 1/16", Brass

Nut, Plug, 1/16", Brass

Assembly, sample mount, 1/2"x 1/16"

Ferrule, 1/16", graphite/vespel

Nut, 1/16", male, 1" long, SS

Nut, Valco, 1" Long Gold Plated

Interface, HP 5700 Series 5710/30/90 GC w/5970 MSD with Chemstation using
Quicksilver Software

Sparger, 5ml fritted kit, 16 sets, for 1/2" mounts. Does not include purge lines.
Sparger, 5ml fritted kit, 16 sets, for 3/4" mounts. Includes purge lines.

Sparger, 25ml fritted kit, 16 sets, for 1/2" mounts. Does not include purge lines.
Sparger, 25ml fritted kit, 16 sets, for 3/4" mounts. Includes purge lines.

Sparger, 5ml fritless kit, 16 sets, for 1/2" mounts. Does not include purge lines.
Sparger, 5ml fritless kit, 16 sets, for 3/4" mounts. Includes purge lines.

Sparger, 25ml fritless kit, 16 sets, for 1/2" mounts. Does not include purge lines.
Sparger, 25ml fritless kit, 16 sets, for 3/4" mounts. Includes purge lines.

Tool, phillips screwdriver

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5890 GC

Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.
6-port actuator, cable

Fuse, 8.0 Amp (rectifier)

Union, 1/16" gold-plated, Valco

Sparger, 25ml fritless, kit

Sparger, 5ml fritless, kit



14-3095-100
14-3096-100
14-3098-016
14-3099-016
14-3100-016
14-3100-074
14-3100-KIT
14-3101-016
14-3101-016
14-3105-000
14-3105-000
14-3105-000
14-3105-186
14-3119-010
14-3123-016
14-3123-016
14-3123-016
14-3123-016
14-3123-016
14-3123-016
14-3123-016
14-3124-016
14-3124-016
14-3124-016
14-3124-016

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000

14-3147-000
14-3149-050
14-3149-050
14-3196-053
14-3196-053
14-3228-001
14-3228-001
14-3231-000
14-3233-000
14-3233-000
14-3233-000
14-3233-000
14-3233-000
14-3233-000
14-3233-000
14-3233-000

Sparger, 25ml fritted, kit

Sparger, 5ml fritted, kit (included with 3100)

Ferrule, 1/2", Teflon, Valco

Reducing adapture 1/4 NPT-1/8 MPT

Tee, 1/8 NPT

3100 user manual

Kit box, 3100

Hex, 1/8 NPT brass nipple

Hex, 1/8 NPT brass nipple

Power cord, Cryogenic valve

Power cord, Cryogenic valve

Power cord, Cryogenic valve

Cryo valve cable assembly

Nut, male, 1/16" for standard mount

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Ferrule, 1/16, Upchurch ETFE (081-042)

Nut, Short, Bk, 1/16 Upchurch

Nut, Short, BIk, 1/16 Upchurch

Nut, Short, Blk, 1/16 Upchurch

Nut, Short, Blk, 1/16 Upchurch

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary
from HNU.)

6-port valve body with rotor

6-port valve body with rotor

PEEK needle, sample, 25 ml, 9 1/8" long

PEEK needle, sample, 25 ml, 9 1/8" long

Screw, Thumb, 6-32 X 3/8 LG

Screw, Thumb, 6-32 X 3/8 LG

Power cord assembly

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.



14-3233-000
14-3233-000
14-3233-200
14-3233-200
14-3233-200
14-3233-200
14-3233-200
14-3233-200
14-3233-200
14-3295-016
14-3295-016
14-3295-016
14-3295-016
14-3295-016
14-3296-016
14-3296-016
14-3347-003
14-3347-003
14-3347-303
14-3347-403
14-3347-403
14-3354-016
14-3354-016
14-3354-016
14-3404-016
14-3581-220
14-3595-053
14-3595-053
14-3595-253
14-3599-100
14-3600-100
14-3601-000
14-3602-000
14-3646-000

14-3741-000
14-3823-000
14-3916-024
14-3916-024
14-3928-003
14-3928-003
14-3928-303
14-3928-403
14-3928-403

14-3938-000

14-3938-000

14-3938-000

14-3938-000

14-3938-000
14-3940-000

Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.
Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

PE Clarus 500 Interface Cable

Nut, 1/16", male, SS, Swagelok

Nut, 1/16", male, SS, Swagelok

Nut, 1/16", male, SS, Swagelok

Nut, 1/16", male, SS, Swagelok

Nut, 1/16", male, SS, Swagelok

Nut, 1/16", SS, Swagelok, plug

Nut, 1/16", SS, Swagelok, plug

Trap, OV-1/Tenax, 12" x 1/8" (#7)

Trap, OV-1/Tenax, 12" x 1/8" (#7)

Trap, OV-1/Tenax (#7)

Trap, OV-1. Tenax, #7 U Shape

Trap, OV-1. Tenax, #7 U Shape

Nut, 1/2" Knurled Swagelok

Nut, 1/2" Knurled Swagelok

Nut, 1/2" Knurled Swagelok

Union, 1/16", SS w/o ferrules

Mount heater, cartridge, 1/4", 120V (from S/N 88200001)
Sample needle, 7.75", for 5ml frit/fritless sparger

Sample needle, 7.75", for 5ml frit/fritless sparger

Sample needle, 8.25", for 5ml frit/fritless sparger with a sample mount heater
Sparger, 5ml needle, kit

Sparger, 25ml needle, kit

Sparger, 5ml needle kit, 16 sets, for 1/2" mounts

Sparger, 25ml needle kit, 16 sets, for 1/2" mounts
Thermocouple clip

Set-up and familiarization of above equipment if installed at the same time.
Price determined by proximity to nearest service center.
Septa, Low Bleed, 40ML, Sample Vial, 72/PK

Vial kit, 40ml, pre-cleaned, 72 vials (including cap and septa)
Vial kit, 40ml, pre-cleaned, 72 vials (including cap and septa)
Trap, Carbo B/Carbo S (#8)

Trap, Carbo B/Carbo S (#8)

Trap, Carbo B/Carbo S (#8)

Strat-Trap, Carbo B/Carbo S, (#8)

Strat-Trap, Carbo B/Carbo S, (#8)

External regulator assembly. Required when interfacing to any type of Mass
Selective Detector and a cryofocusing module. (Must bypass flow controller
when using MSD) when flow rates are under 1ml/min.

External regulator assembly. Required when interfacing to any type of Mass
Selective Detector and a cryofocusing module. (Must bypass flow controller
when using MSD) when flow rates are under 1mi/min.

External regulator assembly. Required when interfacing to any type of Mass
Selective Detector and a cryofocusing module. (Must bypass flow controller
when using MSD) when flow rates are under 1ml/min.

External regulator assembly. Required when interfacing to any type of Mass
Selective Detector and a cryofocusing module. (Must bypass flow controller
when using MSD) when flow rates are under 1mi/min.

External regulator assembly. Required when interfacing to any type of Mass
Selective Detector and a cryofocusing module. (Must bypass flow controller
when using MSD) when flow rates are under 1mi/min.

Pressure gauge, 0-30 psi



14-3940-000
14-3979-016
14-4006-024
14-4006-024
14-4006-024
14-4006-024
14-4006-024
14-4006-124
14-4006-224
14-4007-024
14-4007-024
14-4007-024
14-4007-024
14-4007-024
14-4007-124
14-4007-224
14-4007-224
14-4007-224
14-4024-010
14-4045-003
14-4045-003
14-4045-303
14-4046-003
14-4046-003
14-4046-303
14-4047-003
14-4047-003
14-4047-303
14-4048-079
14-4048-079
14-4050-016
14-4050-016
14-4050-016
14-4050-016
14-4050-016
14-4083-026
14-4092-000
14-4094-000
14-4164-003
14-4164-303

14-4188-086

14-4188-086

14-4188-086

14-4188-086

Pressure gauge, 0-30 psi

Ferrule, reducing, 1/4"-1/16", teflon

Sparger, 5mL frit w/ side arm (glassware only)

Sparger, 5mL frit w/ side arm (glassware only)

Sparger, 5mL frit w/ side arm (glassware only)

Sparger, SmL frit w/ side arm (glassware only)

Sparger, 5SmL frit w/ side arm (glassware only)

Sparger kit, 5ml frit w/ side-arm, for 3100/3000/2000/HP7695
Sparger kit, 5 ml frit w/ side-arm, Velocity XPT

Sparger, 25mL frit w/ side arm (glassware only)

Sparger, 25mL frit w/ side arm (glassware only)

Sparger, 25mL frit w/ side arm (glassware only)

Sparger, 25mL frit w/ side arm (glassware only)

Sparger, 25mL frit w/ side arm (glassware only)

Sparger kit, 25ml frit w/ side-arm, for 3100/3000/2000/HP7695
Sparger kit, 25 mL frit w/ side-arm, Velocity XPT
Sparger kit, 25 mL frit w/ side-arm, Velocity XPT
Sparger kit, 25 mL frit w/ side-arm, Velocity XPT

Nut, 4-40 nylon locking

Trap, GLT, Tenax (G1)

Trap, GLT, Tenax (G1)

Trap, glass-lined, Tenax (G1)

Trap, GLT, Tenax/Silica gel (G2)

Trap, GLT, Tenax/Silica gel (G2)

Trap, glass-lined, Tenax/Silica gel(G2)

Trap, GLT, Tenax/Silica gel/charcoal (G3)

Trap, GLT, Tenax/Silica gel/charcoal (G3)

Trap, glass-lined, Tenax/Silica gel/Charcoal (G3)
Replacement inserts for 9 or 12ml vials (ea)
Replacement inserts for 9 or 12ml vials (ea)

Ferrule, 1/8 Fitt 1/8 Tube GVF

Ferrule, 1/8 Fitt 1/8 Tube GVF

Ferrule, 1/8 Fitt 1/8 Tube GVF

Ferrule, 1/8 Fitt 1/8 Tube GVF

Ferrule, 1/8 Fitt 1/8 Tube GVF

Thermo couple probe (platen heater)

6mm purge tube kit, 150mm long, 16 sets, for 3/4" mounts
Disposable soil kit, 150mm long, 16 sets, for 3/4" mounts
Trap, GLT, blank

Trap, glass-lined blank (GO0)

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software

the internal accessory cable (HP P/N 05987-60158) only is necessary.



14-4188-086

14-4188-086

14-4188-086

14-4188-086

14-4188-086

14-4188-086
14-4261-016
14-4261-016
14-4262-080
14-4306-150
14-4311-120
14-4314-200
14-4323-000
14-4323-200
14-4333-000
14-4362-000
14-4362-000
14-4365-027
14-4366-001
14-4377-019
14-4378-019
14-4380-150
14-4381-050
14-4383-028
14-4383-028
14-4383-028
14-4383-028
14-4383-028
14-4383-028
14-4383-028
14-4383-028
14-4383-028

14-4385-043

14-4385-043

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software. Note:
This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N
05990-60211) accessory card and internal accessory cable (HP P/N 05987-
60158) if using the Pascal software. If using Unix software the internal
accessory cable (HP P/N 05987-60158) only is necessary.

Cross, 1/8" Union Brass Aps.

Cross, 1/8" Union Brass Aps.

Clip, transfer line

Valve, 6-port, actuator with boards

Heater, 3/8" x 3" Ig Assy, for platen

Valve oven cover assembly

Platen drive motor assembly, requires Rev E or newer motor control board
Platen drive motor assembly with motor control board Rev D or older
Instruction manual

Installation kit for 2050W water bath

Installation kit for 2050W water bath

Insert removal tool for 9ml or 12ml insert

Screw, 1/4" - 20 x 5, round head

Fan, Assy (12 VDC) platen heater exchanger

Fan, Assy (12 VDC) rear panel

Valve, assy 2-port, vent, (12 VDC)

Valve, pressure, 2-port, (12 VDC)

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Switch, Power, 10 AMP Filtered use Delta

Butyl rubber septa without teflon face. For 20mm top headspace vials, 125 per
pack. Recommended for temperatures up to 100 degrees C. Color coded grey.

Butyl rubber septa without teflon face. For 20mm top headspace vials, 125 per
pack. Recommended for temperatures up to 100 degrees C. Color coded grey.



14-4385-043
14-4386-027
14-4386-027
14-4386-027
14-4400-074
14-4400-217
14-4417-200
14-4425-000
14-4425-200
14-4426-000
14-4426-200

14-4436-000

14-4436-000

14-4436-000
14-4438-024
14-4438-024
14-4438-024
14-4439-024
14-4439-024
14-4439-024
14-4440-024
14-4440-024
14-4440-024

14-4440-324

14-4440-324

14-4440-324
14-4522-079
14-4568-079
14-4570-000
14-4570-000
14-4572-000
14-4572-100
14-4576-019
14-4602-016
14-4602-116
14-4602-116

14-4610-086

14-4610-086

14-4610-086

14-4610-086

14-4610-086

14-4610-086

Butyl rubber septa without teflon face. For 20mm top headspace vials, 125 per
pack. Recommended for temperatures up to 100 degrees C. Color coded grey.
Jaw set, 20mm, crimp station

Jaw set, 20mm, crimp station

Jaw set, 20mm, crimp station

7000 Headspace Service Manual

Shipping carton with foam, 7000

Shipping container, carrousel, 7000

Index motor assembly, 7050, requires Rev E or newer motor control board
Index motor assembly, 7050, with motor control board Rev D or older
Rotational motor assembly, 7050, requires Rev E or newer motor control board
Rotational motor assembly, 7050, with motor board Rev D or older

Crimp Cap. For headspace septa and 20mm top headspace vials, 125 per
pack.

Crimp Cap. For headspace septa and 20mm top headspace vials, 125 per
pack.

Crimp Cap. For headspace septa and 20mm top headspace vials, 125 per
pack.

Vials, 9ml headspace, w/20mm top, 100 per pack. ** Requires insert for use**
Vials, 9ml headspace, w/20mm top, 100 per pack. ** Requires insert for use**
Vials, 9ml headspace, w/20mm top, 100 per pack. ** Requires insert for use**
Vials, 12ml headspace, w/20mm top, 125 per pack. ** Requires insert for use**
Vials, 12ml headspace, w/20mm top, 125 per pack. ** Requires insert for use**
Vials, 12ml headspace, w/20mm top, 125 per pack. ** Requires insert for use**
Vials, 22ml headspace, w/20mm top, 125 per pack.

Vials, 22ml headspace, w/20mm top, 125 per pack.

Vials, 22ml headspace, w/20mm top, 125 per pack.

Vials, 22ml headspace, w/20mm top, for high temperature use (over 225C), 125
per pack. Included with instrument shipment.

Vials, 22ml headspace, w/20mm top, for high temperature use (over 225C), 125
per pack. Included with instrument shipment.

Vials, 22ml headspace, w/20mm top, for high temperature use (over 225C), 125
per pack. Included with instrument shipment.

Carrousel collar for 9ml or 12ml vials

Platen spacer, hold down

Gauge, Assy pressure 0-30 PSI, 1/16" tube

Gauge, Assy pressure 0-30 PSI, 1/16" tube

Sample transfer line sheath, 60", replacement

Transfer line, heater, 60" with nickel tubing

Fan, box, 12 VDC, lower unit cooling

Nut, 1/8", SS, Valco, for top of trap

Nut, 1/8", SS, Valco Gold Plated

Nut, 1/8", SS, Valco Gold Plated

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91



14-4610-086

14-4610-086

14-4610-086

14-4610-086
14-4610-186
14-4610-186
14-4610-186
14-4610-186
14-4610-186
14-4610-186
14-4610-186
14-4610-186
14-4612-090
14-4613-090
14-4614-090
14-4615-090
14-4616-090
14-4617-090
14-4618-090
14-4619-090
14-4620-090
14-4621-090
14-4622-090
14-4623-090

14-4625-090
14-4632-000

14-4652-086

14-4652-086

14-4652-086

14-4652-086

14-4652-086

14-4652-086

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A w/QP 1000 EX MSD and GC
14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N
221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A
w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

PCB, logic board

PCB, motor control

PCB, interface board

PCB, power supply board

PCB, mother board assembly

Logic board assembly

PCB, thermo couple cond.

PCB, int. conn.board

PCB, loader board

PCB, mixer board

PCB, sample board

PCB, encoder

PCB, carrousel index board (7050)

Solenoid 12 VDC

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine



14-4652-086

14-4652-086

14-4652-086

14-4652-086
14-4661-079
14-4674-080
14-4695-016
14-4695-016
14-4695-016
14-4695-016
14-4738-028
14-4793-029
14-4793-186
14-4814-000
14-4814-000
14-4814-000
14-4814-000
14-4815-026
14-4824-116
14-4825-024
14-4825-024
14-4825-124
14-4825-224
14-4826-024
14-4826-024
14-4826-124
14-4826-224
14-4826-224
14-4826-224
14-4830-086
14-4840-086
14-4844-086
14-4845-027
14-4846-027
14-4847-027
14-4863-027
14-4863-027
14-4863-027
14-4864-027
14-4864-027
14-4864-027
14-4865-027
14-4865-027
14-4865-027
14-4866-027
14-4866-027
14-4866-027
14-4869-067
14-4870-067
14-4871-027
14-4872-075
14-4883-067
14-4884-086

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Intgrface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP
5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS
Engine

Carrousel collar, 22ml vials

Bracket, expansion slot cover

Tee, 1/16" Brass

Tee, 1/16" Brass

Tee, 1/16" Brass

Tee, 1/16" Brass

Switch, interlock safety for trays

Cable, 25 Cond. M/F (external cable)

Interface cable, AQUATek 70 to 3000/3100

LN(2) tank adapter kit

LN(2) tank adapter kit

LN(2) tank adapter kit

LN(2) tank adapter kit

TC, .06 x 6" Probe, 27.5

Union, reducing 3/4" x 1/2"

Sparger, 5ml fritless, for 3000/2000/HP7695 (glassware only)
Sparger, 5Sml fritless, for 3000/2000/HP7695 (glassware only)

Sparger kit, 5ml fritless w/ side-arm, for 3100/3000/2000/HP7695
Sparger kit, 5 ml fritless w/ side-arm, Velocity XPT

Sparger, 25ml fritless, for 3000/2000/HP7695 (glassware only)
Sparger, 25ml fritless, for 3000/2000/HP7695 (glassware only)
Sparger kit, 25ml fritless w/ side-arm, for 3100/3000/2000/HP7695
Sparger kit, 25 mL fritless w/ side-arm, Velocity XPT

Sparger kit, 25 mL fritless w/ side-arm, Velocity XPT

Sparger kit, 25 mL fritless w/ side-arm, Velocity XPT

Interface, 2 HT3 to one HP 5890 (GC only).

Cable, platen encoder board

Cable, microprocessor

Tool, wrench 1/4"-5/16"

Tool, wrench 7/16"-1/2"

Tool, 5/16" blade screwdriver

Hand crimper for 20mm top headspace vials

Hand crimper for 20mm top headspace vials

Hand crimper for 20mm top headspace vials

Tool, decapper 20mm neck

Tool, decapper 20mm neck

Tool, decapper 20mm neck

Crimp station, 20mm top headspace vials. Includes 20mm jaw set
Crimp station, 20mm top headspace vials. Includes 20mm jaw set
Crimp station, 20mm top headspace vials. Includes 20mm jaw set
Rack holder, vial, for 10 headspace vials

Rack holder, vial, for 10 headspace vials

Rack holder, vial, for 10 headspace vials

Loop, sample, 500ul

Loop, sample, 250ul

Tool, nut driver

ROM, with program 7000, Version 1.32

Loop, sample, 100ul

Cable, carrousel (internal ribbon cable)



14-4891-000
14-4896-031
14-4897-050
14-4900-000
14-4900-167
14-4913-153
14-4913-153
14-4913-253
14-4913-253
14-4913-353
14-4913-453
14-4913-453

14-4913-553

14-4913-553
14-4913-653
14-4919-267
14-4924-067
14-4924-267

14-4925-050

14-4926-050

14-4928-050

14-4936-050
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4938-086
14-4939-303
14-4944-067
14-4944-167
14-4945-067
14-4946-067
14-4957-138
14-4957-238
14-4958-086
14-4960-034
14-4961-034
14-4961-034
14-4966-090
14-4974-050
14-4983-253
14-5009-043
14-5019-100
14-5020-027
14-5020-027

Dust cover assembly, 7050

Knob, clamp (for 50 position deck 7050)

Regulator, Pressure, with 1/8" Elbow Fittings, 100 psi max

Vent restrictor assembly

Internal vent restrictor assembly

Septum needle adapter kit, Varian 1040/1041 packed injection port

Septum needle adapter kit, Varian 1040/1041 packed injection port

Septum needle adapter kit, HP 5890A, 6890, capillary injection port

Septum needle adapter kit, HP 5890A, 6890, capillary injection port

Septum needle adapter kit, HP 5880A, 5890A and 6890 packed injection port
Septum needle adapter kit, Varian SP1 1075/1077 and Tracor 540 injection ports
Septum needle adapter kit, Varian SP1 1075/1077 and Tracor 540 injection ports
Septum needle adapter kit, Perkin Elmer, all Sigma Series, all 8000 Series, and
autosystem injection ports

Septum needle adapter kit, Perkin Elmer, all Sigma Series, all 8000 Series, and
autosystem injection ports

Septum needle adaptor kit, Shimadzu 9A, 14A and 17A packed injection ports
Silco coated sample loop, 2 mi

Loop, sample, 1ml

Silco coated sample loop, 1 mi

Flow element, 1-10 cc/min. For precise regulation of .1-.32 I.D. Capillary
column flow rates. Installed in instrument vial needle flow controller. Color
coded blue. (Recommended for use with septum needle adapter operated in the
capillary splitless mode or cap-on-column mode.)

Flow element, 6-60 cc/min. For precise regulation of 1/8" - 1/4" packed column
flow rates. Installed in transfer line flow controller. Color coded red.
(Recommended for use with septum needle adapter operations with packed
inlet port and packed injectors with mega bore column.)

Flow element, 40-400 cc/min. Color coded black. (Recommended for use in
applications with high (>100 cc/min) standby flows.)

Flow element, 0-25 cc/min. For precise regulation of .53-.75 I.D. Capillary
column flow rates. Color coded red with silver dot.

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Interface, Carlo Erba Mega and Vega Series/Fisons 8000

Trap, glass-lined, 1/8" Tenax/Charcoal

Loop, sample, 2ml

Polar sample loop, 2mi

Loop, sample, 3ml

Loop, sample, 5ml

Transformer Assy (220V)

Transformer assy, 220V-110V

Cable, power module to interconnect board

8 amp fuse, 250V, GDB, 5 x 20 mm

4.0 amp fuse, 5 x 20 mm, 230V

4.0 amp fuse, 5 x 20 mm, 230V

PCB, BCD interface board

Flow controller, 0-60cc/min.

Needle, 19 GA, 2.527 Lg, Silco coated

Septum replacement, septum needle adapter, 5 ea

Disposable soil kit, 150mm long, 16 sets, 1/2" to 3/4" adapter for 1/2" mount
Crimp station, air powered

Crimp station, air powered



14-5020-027
14-5026-050
14-5026-050
14-5026-050
14-5028-039
14-5028-039
14-5028-039
14-5028-039
14-5028-039
14-5036-010
14-5036-110

14-5045-000

14-5083-000

14-5092-100

14-5092-200

14-5093-000
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-086
14-5107-186
14-5118-100
14-5119-100
14-5162-000
14-5162-200
14-5167-000
14-5167-200
14-5175-000
14-5175-200
14-5177-138
14-5177-238
14-5180-034
14-5180-034
14-5180-034
14-5180-034
14-5180-034
14-5186-053

14-5186-353
14-5186-453
14-5194-016
14-5229-002
14-5229-002
14-5229-002
14-5233-090
14-5233-090
14-5235-090
14-5235-090

Crimp station, air powered

Pressure regulator valve, 1/16" fitting, 0-60 psi

Pressure regulator valve, 1/16" fitting, 0-60 psi

Pressure regulator valve, 1/16" fitting, 0-60 psi

220V Power Cable

220V Power Cable

220V Power Cable

220V Power Cable

220V Power Cable

Septum nut, HP 5890A capillary injection port

Septum nut, HP 5890A packed injection port

Variable Injection Pressure Regulator (VIPR). Controls injection pressure for
enhanced sensitivity.

Insert kit for using 9 or 12ml vials. Includes 12 inserts, carrousel collar and
insert removal tool.

Installation kit, Tekmar 3100/3000. Includes 5ml syringe with luer, 10ul syringe,
and a 3/8" wrench.

Installation Kit, Includes 5ml syringe with luer, 10 ul syringe and sample mount
wrench.

Installation kit. Includes 40-400cc/min flow element, 1/8" - 1/16" reducing union,
five feet 1/16" nickel tubing, nine feet 1/8" copper tubing, 1/16" stainless steel
union, 1/8" brass tee, 1/8" brass union, vial crimper, five 1/2" wire ties, and
special tools for installation.

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 Cable Assembly (included with unit)

RS232 interface cable, 12 ft. (9 pin to 9 pin) for 7000

Solvent flush kit, 3000/3100

Test tube adapter, soil sampler kit, 1/2" - 3/4", single position, 1/2"

Mixer elevator assembly, requires Rev E or newer motor control board
Mixer elevator assembly with motor control board Rev D or older
Elevator sampler assembly, requires Rev E or newer motor control board
Elevator sampler assembly with motor control board Rev D or older
Elevator loader assembly, requires Rev E or newer motor control board
Elevator loader assembly with motor control board Rev D or older
Transformer assembly (100v)

Transformer assy, 100V-110V

Fuse, 10A, 250V, 5x20mm, Slow Blow

Fuse, 10A, 250V, 5x20mm, Slow Blow

Fuse, 10A, 250V, 5x20mm, Slow Blow

Fuse, 10A, 250V, 5x20mm, Slow Blow

Fuse, 10A, 250V, 5x20mm, Slow Blow

Soil needle, 7.75", for 5ml needle sparger

Soil needle, 9.50", for 20/25ml needle sparger on 2016 and for disposable
sample tubes configured with 1/2" mounts and 3/4" adapters.

Soil needle, 10.25", for 20/25ml needle sparger

Bulkhead, 1/8"-1/8", tube stub, SS

Tubing, 1/16", nickel, large bore, (price/foot), 10ft lengths (purge side)
Tubing, 1/16", nickel, large bore, (price/foot), 10ft lengths (purge side)
Tubing, 1/16", nickel, large bore, (price/foot), 10ft lengths (purge side)
Micro controller

Micro controller

Communications/interface board

Communications/interface board



14-5258-016
14-5258-016
14-5259-016
14-5259-016
14-5260-700

14-5270-000
14-5284-290
14-5285-367
14-5291-038
14-5293-020
14-5297-191
14-5298-050
14-5298-150
14-5299-120
14-5302-016
14-5302-016
14-5302-116
14-5307-120
14-5311-080
14-5312-090
14-5315-090
14-5315-190

14-5329-090

14-5329-090

14-5330-090

14-5330-090

14-5330-090
14-5330-190
14-5386-016
14-5386-016
14-5389-019

14-5393-490
14-5397-086
14-5397-086
14-5397-086
14-5397-086
14-5397-086
14-5397-086
14-5397-086

14-5408-050
14-5439-080
14-5484-034

Ferrule, 0.6-0.8mm O.D. adapter, fused silica

Ferrule, 0.6-0.8mm O.D. adapter, fused silica

Ferrule, 0.5mm O.D., adapter, fused silica

Ferrule, 0.5mm O.D., adapter, fused silica

Terminal kit, soft key hand-held, Via RS232

Sparger, 20ml needle kit, 16 sets, for use with silicone tube heater, for 1/2"
mounts

Memory board

Loop, MCS, 600-650ul SilcoSteel

Transformer, 115V

Cryotrap heater assembly, internal

Panel display, front, LCD

Valve assembly w/actuator, 6-port

Actuator 6-port valve 3000/3100/6000

Heater assembly, bottom

Bulkhead elbow, 1/8" - 1/16", SS

Bulkhead elbow, 1/8" - 1/16", SS

Bulkhead, 1/8" - 1/16" Silcosteel®

Transfer line assembly, heated, (72")

Expansion slot cover

Interconnect board

Thermocouple board

Thermocouple board

PCB, Autosampler Logic Board for 3000/3100/6000. This card is required if a
3000/3100/6000 unit is going to be interfaced to a 2016/2032/6016/6032
Autosampler that was previously installed to a 2000 system.

PCB, Autosampler Logic Board for 3000/3100/6000. This card is required if a
3000/3100/6000 unit is going to be interfaced to a 2016/2032/6016/6032
Autosampler that was previously installed to a 2000 system.

PCB, Cryofocusing Logic Board for 3000/3100/6000/ACAN. This card is
required if a 3000/3100/6000 unit is going to be interfaced to a Cryofocusing
Module (NOTE: If the Cryofocusing Module is prior to serial number 91046014
contact Technical Support to confirm proper configuration) that was previously
installed to a 2000/7000 system.

PCB, Cryofocusing Logic Board for 3000/3100/6000/ACAN. This card is
required if a 3000/3100/6000 unit is going to be interfaced to a Cryofocusing
Module (NOTE: If the Cryofocusing Module is prior to serial number 91046014
contact Technical Support to confirm proper configuration) that was previously
installed to a 2000/7000 system.

PCB, Cryofocusing Logic Board for 3000/3100/6000/ACAN. This card is
required if a 3000/3100/6000 unit is going to be interfaced to a Cryofocusing
Module (NOTE: If the Cryofocusing Module is prior to serial number 91046014
contact Technical Support to confirm proper configuration) that was previously
installed to a 2000/7000 system.

PC board assy, Cryo card w/split valve (for 14-ACAN-000 and 14-ACAN-200)
Fitting, sample mount, unheated 1/2"

Fitting, sample mount, unheated 1/2"

Fan guard

3100 Memory Card required for 3100 (with ROM Version 5.16 or less) for
SOLATek 72/AQUATek 70 Installations

Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem
Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem

0-144 cc/min flow element. Color coded silver w/red dot. (Recommended for
use when GC pneumatics are regulating carrier flow to the column or with
septum needle adapter in the capillary split mode.)

Display cover, front panel

Fuse, 8 amp, 5 x 20mm, 250 V, Type T



14-5484-034
14-5514-080
14-5522-050
14-5522-150
14-5524-219
14-5524-319
14-5525-019
14-5526-150
14-5527-050
14-5528-086
14-5529-050
14-5530-050

14-5531-000
14-5540-002
14-5541-167
14-5542-167
14-5544-167
14-5545-167
14-5555-026
14-5558-086
14-5573-050

14-5606-167
14-5624-016
14-5624-016
14-5634-100
14-5634-200
14-5634-300
14-5634-500
14-5634-600
14-5634-700
14-5653-367
14-5654-120
14-5654-220
14-5661-016
14-5661-016
14-5661-016
14-5663-016
14-5663-016
14-5665-034
14-5665-034
14-5665-034
14-5665-034
14-5665-034
14-5675-150
14-5681-102
14-5682-202
14-5684-000
14-5685-016
14-5686-016
14-5686-116
14-5686-216
14-5687-020
14-5687-020
14-5691-079
14-5716-050
14-5717-020
14-5717-120

Fuse, 8 amp, 5 x 20mm, 250 V, Type T
Tee locater bracket

Flow controller, 0-100 cc/min.

Flow controller, 1/8" fittings, 0-100 mL/min
Fan assembly

Fan assembly, 3 1/8" SQ 11" leads
Blower assembly

Valve assembly drain, 12VDC, 1/8" fittings
Bypass valve, sample

Cable for hand-held controller

Gas valve, sweep

Vent valve

E-form option kit. Recommended for VOCs in water/soil analysis. Includes

tubing and fittings for transfer line, sample pathway, 1ml E-form sample loop

and E-slider for six port valve.

Electroform tubing, 0.06" OD, 0.04" ID (per foot)
E-form sample loop 1ml

E-form sample loop 2mi

E-form sample loop 250ul

E-form sample loop kit, 500ul

Thermocouple, type K 16" (oven)

Cable, 6 pin modular, coiled

Rotor, E-type, for 6-port valve

E-form sample loop kit, 250ul, 500ul, 2ml. For use with pharmaceutical &
environmental samples.

Ferrule, 1/4" to 1/8" reducing

Ferrule, 1/4" to 1/8" reducing

TC extension, trap 25"

TC extension, BOT 13"

TC extension, trap 25"

Cable display, 21"

Wiring kit, main, 110V

Power lead, trap 25"

Loop, MCS, 450-500ml, SilcoSteel

MCS heater assembly

MCS heater assembly(220V)

Pencil Filter, Filter Flow Module

Pencil Filter, Filter Flow Module

Pencil Filter, Filter Flow Module

Ferrule, 1/16", teflon, 1 piece (for needle in mount)
Ferrule, 1/16", teflon, 1 piece (for needle in mount)
Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM
Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM
Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM
Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM
Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM
Assembly, pressure regulator, 3100

Purge line assembly

Drain line assembly, 3100

Sample valve, 3-port assembly

Union, 1/16" brass

Bulkhead, 1/8"-1/16" SS, with filter

Top of trap fitting, nickel plated

Top of trap fitting, silcosteel® coated

Cartridge heater, valve oven

Cartridge heater, valve oven

Valve oven plate

Valve, assembly, HRP 12 VDC

Heater assembly, trap

Heater assembly, TURBOCool trap, 3000/3100



14-5718-020

14-5731-076

14-5732-076
14-5736-000
14-5736-100
14-5737-020
14-5737-120
14-5740-058

14-5745-090

14-5745-090

14-5745-090

14-5745-090
14-5747-035
14-5747-035
14-5749-090
14-5757-034
14-5757-034
14-5773-016
14-5773-016
14-5778-050
14-5779-026
14-5779-026
14-5803-090
14-5813-234

14-5818-043

14-5818-043

14-5818-043
14-5833-190
14-5864-003
14-5864-003
14-5864-303
14-5864-403
14-5864-403
14-5865-003
14-5865-003
14-5865-303
14-5865-403
14-5865-403
14-5866-003
14-5866-003
14-5866-303
14-5866-403
14-5866-403
14-5869-002
14-5882-034

Heater assembly, bottom of trap

TekLink 7000 Instrument Control Software w/o ROM. Includes TekLink 7000
software, (1) 3.5" diskette, 12 ft. (9 pin to 9 pin) RS232 cable, 9 pin to 25 pin
cable adapter and instruction manual.

TekLink 7000 Instrument Control Software with ROM upgrade. Includes
TekLink 7000 software, (1) 3.5" diskette and (1) 5.25" floppy, 12 ft. (9 pinto 9
pin) RS232 cable, 9 pin to 25 pin cable adapter, latest version 7000 ROM and
instruction manual.

Heater, pocket, automatic assembly, 1 pos. (for 3100/3000)

Heater, tube, automatic assembly, 1 pos. (for 3100/3000)

Pocket heater (spare part)

Tube heater (spare part)

Output module

Serial port expansion board for PC (required if your computer has no available
serial ports)

Serial port expansion board for PC (required if your computer has no available
serial ports)

Serial port expansion board for PC (required if your computer has no available
serial ports)

Serial port expansion board for PC (required if your computer has no available
serial ports)

Gender adapter, 9 pin male to 25 pin female

Gender adapter, 9 pin male to 25 pin female

Output board/power (must have ROM 2.0 or greater)

Fuse, 4amp, sub-min, fast for output module

Fuse, 4amp, sub-min, fast for output module

Ferrule, 1/8", Gold Plated for Top of Trap

Ferrule, 1/8", Gold Plated for Top of Trap

Valve, needle (TPC) 1/16" tube

Oven thermocouple, .062 DIA x 38" long

Oven thermocouple, .062 DIA x 38" long

Power supply board, 70W

Fuse, 10 amp

Silicon rubber/teflon face septa. For 20mm top headspace vials, 125 per pack.
Included with instrument shipment. (Recommended for temperatures over 100
degrees C. Color coded tan.)

Silicon rubber/teflon face septa. For 20mm top headspace vials, 125 per pack.
Included with instrument shipment. (Recommended for temperatures over 100
degrees C. Color coded tan.)

Silicon rubber/teflon face septa. For 20mm top headspace vials, 125 per pack.
Included with instrument shipment. (Recommended for temperatures over 100
degrees C. Color coded tan.)

Pressure transducer assembly

Trap, VOCARB 3000

Trap, VOCARB 3000

Trap, VOCARB 3000™

Strat-Trap, Vocarb 3000

Strat-Trap, Vocarb 3000

Trap, VOCARB 4000

Trap, VOCARB 4000

Trap, VOCARB 4000™

Strat-Trap, Vocarb 4000

Strat-Trap, Vocarb 4000

Trap, BTEX

Trap, BTEX

Trap, BTEX™

Strat-Trap, BTEX

Strat-Trap, BTEX

Support tube, fused silica transfer line 2.5"Ig
Fuse, 2 pico amp



14-5957-050

14-5959-100
14-5977-086
14-6000-217
14-6011-102
14-6011-302

14-6058-002

14-6058-102

14-6058-702

14-6058-802

14-6085-002

14-6085-002
14-6104-002
14-6104-002
14-6104-002
14-6104-002
14-6104-002
14-6106-090
14-6106-090
14-6106-190
14-6107-090
14-6107-090
14-6108-100
14-6108-120
14-6108-120
14-6150-024
14-6150-024
14-6154-350
14-6216-016
14-6216-216
14-6216-316
14-6226-000
14-6226-000
14-6255-100
14-6255-200
14-6292-350
14-6292-350
14-6412-016
14-6412-016
14-6417-002
14-6453-034
14-6520-074
14-6520-074
14-6520-600
14-6544-019
14-6545-019

Mass flow controller assembly

3100 desorber kit, 7" x 1/4", for stainless steel traps 7" long by 1/4" O.D.
stainless steel traps. Includes trap heater, two blank traps, and adapters for
installation in Tekmar 3100. (See AEROTrap 6000 spare parts price list for
additional 1/4" sample tubes). Need (2) additional 6mm ferrules

(P/N 14-4482-016) to work with 6mm O.D. sample tubes.

Cable, mass flow controller to data acquisition system

Shipping carton with foam, M3000/3100/6000

MCS jumper, Silcosteel®, with fittings, 3000

MCS jumper, Silcosteel®, with fittings, 3100

Polar option kit with 1ml loop. Recommended for alcohol, sulfur, nitrogen and
phosphorous compounds only. Includes loop, sample path tubing, fittings,
transfer line tubing, E-valve rotor.

Polar option kit with 1/2ml loop. Recommended for alcohol, sulfur, nitrogen and
phosphorous compounds only. Includes loop, sample path tubing, fittings,
transfer line tubing, E-valve rotor.

Silcosteel option kit with 1 ml loop. Recommended for polar and nonpolar
compounds. Includes loop, sample path tubing, fittings, large bore transfer line
tubing, and E-valve rotor.

Silcosteel option kit with 2 ml loop. Recommended for polar and nonpolar
compounds. Includes loop, sample path tubing, fittings, large bore transfer line
tubing, and E-valve rotor.

Silco Steel .02" ID transfer line (price/foot) (Requires also (2) of P/N 14-0241-
016.)

Silco Steel .02" ID transfer line (price/foot) (Requires also (2) of P/N 14-0241-
016.)

Tubing, transfer line, Silcosteel (per foot), .040 x 1/16"

Tubing, transfer line, Silcosteel (per foot), .040 x 1/16"

Tubing, transfer line, Silcosteel (per foot), .040 x 1/16"

Tubing, transfer line, Silcosteel (per foot), .040 x 1/16"

Tubing, transfer line, Silcosteel (per foot), .040 x 1/16"

Power board assembly, 120V

Power board assembly, 120V

Power board assembly, 220V

Control board, Cryo

Control board, Cryo

Sample mount heater kit

Heated Silcosteel® sample mount

Heated Silcosteel® sample mount

Standard vessel with UV coating, 0.330" ID

Standard vessel with UV coating, 0.330" ID

6 port control box only

Fitting, Union, 1/16", 4-way

Union, 5 way

Fitting, union, 1/16", Silcosteel® 4-way

Pressure gauge, 0-30 psi

Pressure gauge, 0-30 psi

Power supply, single output, 24VDC, 4A, after S/N US01214008

Power supply, single output, 24 VDC, 4A, after S/N US01214008

Controller Box, Valve, 6 Port, Velocity

Controller Box, Valve, 6 Port, Velocity

Nut, male, stainless steel, 1/16", 1.5" long, SS

Nut, male, stainless steel, 1/16", 1.5" long, SS

Tygon tubing, 5/16" OD, 3/16" ID (per foot)

Fuse 4.0A, 5X20 MM T-4.0

Cryofocusing Module instruction manual

Cryofocusing Module instruction manual

Cryofocusing Module, 115V

Fan guard

Fan, 12 VDC, 5.4 CFM



14-6551-006

14-6555-020

14-6555-020
14-6556-004
14-6558-028
14-6560-000
14-6566-082
14-6567-001
14-6577-002
14-6577-002
14-6578-010
14-6579-043
14-6650-220
14-6650-320
14-6689-086
14-6689-086
14-6689-086
14-6689-086
14-6689-086
14-6689-086
14-6689-086
14-6689-086
14-6689-086

14-6689-186
14-6712-016
14-6747-050
14-6747-150
14-6747-250
14-6747-350
14-6748-050
14-6748-150
14-6748-250
14-6748-350
14-6750-050
14-6750-150
14-6750-250
14-6750-350
14-6751-020
14-6752-020
14-6752-120
14-6752-420
14-6752-520
14-6754-016
14-6755-120
14-6760-080
14-6762-011
14-6764-016
14-6765-003
14-6765-103
14-6765-203
14-6765-303
14-6766-090
14-6767-090
14-6780-000
14-6783-050
14-6783-050
14-6784-050

Standoff, nylon, 6-32 - snap on

Union heater assembly, does not include nuts & ferrules for transfer line or
column.

Union heater assembly, does not include nuts & ferrules for transfer line or
column.

Insulation, union base and cover
Switch, 6 amp circuit breaker

Power entry module with EMI filter

HP 5890 GC mounting bracket

Screw, M4 x 0.7 x 8 mm

Pressure gauge tubing, 0.062" OD, 0.040" ID, 6" long
Pressure gauge tubing, 0.062" OD, 0.040" ID, 6" long
Nut

O-ring .2500D

Transfer Line heater, 100-115 VAC, 72" long
Transferline heater Assy, 72" long, 230V
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6850, 6890, 7890 GC
Interface, HP 6890 GC connected to MSD (Please note that all dip switches
need to be up)

Union, bulkhead, brass, 1/8"-1/6"

Valco valve, 16-port

Motor, 16 pos, Valco, AUTOCan

Valve body & rotor, 16 port

Rotor, 16 port valve, AUTOCan

Valco valve, 8-port

Motor, 8 pos, Valco, AUTOCan

Valve body with slider 8 port

Rotor, 8 port valve, AUTOCan

Valve, 6-port, .030 ports, 24V

6-port Valve Actuator

6 port valve body with slider

Rotor, 6 port valve, AUTOCan

Heated transfer line assembly

Manifold assembly, left

Manifold assembly, right

Manifold, Lft, Siltek Before SN US06332
Manifold, Rt, Siltek before SN US06332
Union, bulkhead, 1/16" tower

Cartridge heater oven assembly
Canister support rack

Leg leveler

Fitting, 1/4"-1/16"

Trap, 6", Carbopack B, 1/8"

Tenax, 6" trap

Carbo pack B trap, Carbosieve S Il 1/8" x 6"
Blank, 6" trap

Output control board

PCB assembly, Thermocouple

Power supply assembly

Pressure lock valve assembly

Pressure lock valve assembly

Line sweep valve assembly



14-6785-050
14-6795-094
14-6805-090
14-6805-190
14-6810-002
14-6810-302
14-6811-094
14-6826-086
14-6826-086
14-6827-086
14-6828-086
14-6829-086
14-6855-000
14-6893-302
14-6893-402
14-6893-502
14-6916-020
14-6924-019
14-6925-019
14-6929-002
14-6929-202
14-6929-302
14-6934-002
14-6934-002
14-6934-002
14-6934-002
14-6934-002
14-6934-002
14-6934-002
14-6938-020
14-6938-085
14-6940-019
14-6945-085
14-7037-016
14-7037-016
14-7038-016
14-7038-016
14-7038-016
14-7038-016
14-7081-050
14-7105-086
14-7200-074
14-7200-217
14-7200-kit
14-7201-009
14-7201-009
14-7293-052
14-7333-150
14-7333-250
14-7333-350
14-7333-450
14-7341-280
14-7341-280
14-7341-280
14-7344-450
14-7396-086
14-7396-086
14-7396-086
14-7396-086
14-7396-086

Line backflush valve assembly

Molded cap tower

Indicator panel assembly

Status panel assembly

Connection line assembly

Assy, Line, After S/N US06332009

End cap

Cable assembly, indicator panel

Cable assembly, indicator panel

Cable assembly, pressure transducer
Internal Cryo bracket to board cable assembly
Cable assembly, mass flow controller
Screw cap for 40ml vial, pkg of 24

IS Restrictor loop w/ fittings (Solatek)

IS flow restrictor, with fittings, Aquatek 70's after s/n US01312002
IS flow restrictor, with fittings, Aquatek 70's before s/n US01312002
Sample transfer heater

Cooling fan assembly

MCS fan assembly

ISTD Can lines

Lines, ISTD, Siltek After S/N US06332009
Lines, ISTD, Siltek After S/N US06332009
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
PEEK Tubing, 1/16" OD, Natural (per foot)
Trap heater assembly

6-Port oven cover

Fan guard

Multiport valve, oven cover

1/8" Flangless nut

1/8" Flangless nut

Bushing, Exit, 1/8" Tefzel, Short

Bushing, Exit, 1/8" Tefzel, Short

Bushing, Exit, 1/8" Tefzel, Short

Bushing, Exit, 1/8" Tefzel, Short

Backflush valve

Cable, host, RS 232

User Manual, SOLATek 72

Shipping container-SOLATek 72
SOLATEek kit box

Washer, TEFLON

Washer, TEFLON

25ml sample syringe

Assy, 3-way, drain valve

Assy, 3-way, sample valve

Assy, 3-way pressurize valve

Assy, 3-way, transfer valve

HP 6890 GC mounting bracket

HP 6890 GC mounting bracket

HP 6890 GC mounting bracket

4-Port Syringe Valve, Ceramic w/ Fittings
Interface, Varian 3800/3900

Interface, Varian 3800/3900

Interface, Varian 3800/3900

Interface, Varian 3800/3900

Interface, Varian 3800/3900



14-7396-086
14-7396-086
14-7396-086
14-7396-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-086
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186
14-7397-186

14-7410-002
14-7418-080
14-7418-080
14-7418-080
14-7433-090
14-7433-190
14-7434-090
14-7482-053
14-7483-050
14-7483-128
14-7483-150
14-7483-250
14-7486-086
14-7486-186
14-7487-086
14-7487-090
14-7488-120
14-7488-220
14-7491-067
14-7491-167
14-7491-267
14-7491-367
14-7494-157
14-7500-016
14-7510-102

14-7511-016

14-7511-016
14-7514-001
14-7518-016
14-7520-128
14-7520-128
14-7533-086
14-7534-086

Interface, Varian 3800/3900

Interface, Varian 3800/3900

Interface, Varian 3800/3900

Interface, Varian 3800/3900

Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions
Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Trace 2000/Trace GC Ultra Interface cable

Small O.D. Silcosteel Tubing for transfer line, 0.021 x 0.029, (requires 14-7511-

016 graphite vespel ferrules for installation)

Foil backing, septa (pack of 125), required for high temperature vials.
Foil backing, septa (pack of 125), required for high temperature vials.
Foil backing, septa (pack of 125), required for high temperature vials.
Assy, valve control board

Assy, valve control board, 220V

AQUATEek 70 interface board. Required for all 3000's and 3100's
AQUATek 70 Needle

Valve, 4-port Hamilton valve (2ul)

Assy, wiring harness, switch control

Assy, 4-port Hamilton valve, 100V

Assy, 4-port Hamilton valve, 220V

Assy, wiring harness (AC)

Assy, wiring harness (DC)

Assy, wiring harness, heat control board

Assy, heat control board

Assy, water resv/htrs, 100/120Volts

Assy, water resv/htrs, 220 volts

5 ml sample loop, Teflon, AQUATek 70

25 ml sample loop,Teflon, AQUATek 70

20 ml sample loop, Teflon, AQUATek 70

10 ml sample loop, Teflon, AQUATek 70

Assy, LED, square .370 x .270, yellow

1/8"-1/16" Teflon reducing ferrule

Pre-column, Glass bead packed

1.25 mm, 1/16" body graphite vespel ferrule, (ferrule used with the 14-7410-002

tubing)

1.25 mm, 1/16" body graphite vespel ferrule, (ferrule used with the 14-7410-002

tubing)

Plug, Flat Point Nylon, 1/4-28 X 1/4" LG

Union, 1/16-1/16, flow restrictor, 500cc

Assy, pressure switch, 1/8 NPT, 10-100psi, hot water tank
Assy, pressure switch, 1/8 NPT, 10-100psi, hot water tank
Assy, cable 25 pin, female

Assy, cable, 9 pin, male



14-7558-034
14-7603-050
14-7630-002
14-7630-002
14-7630-002
14-7630-002
14-7633-002
14-7634-002
14-7634-002
14-7634-002
14-7634-002
14-7634-002

14-7644-000

14-7645-000
14-7656-000
14-7664-100
14-7671-016
14-7671-016
14-7671-016
14-7671-016
14-7671-016
14-7682-051
14-7685-016
14-7686-016
14-7695-016
14-7695-016
14-7695-016
14-7695-016
14-7695-016
14-7715-024
14-7748-086
14-7806-000
14-7806-000
14-7806-000
14-7806-000
14-7806-000
14-7806-026
14-7806-100
14-7806-200
14-7824-280
14-7835-090
14-7835-090
14-7835-090
14-7835-190
14-7836-190
14-7837-090
14-7837-190
14-7837-590
14-7837-690
14-7837-690
14-7837-690
14-7838-190
14-7877-200
14-7882-179
14-7887-279
14-7888-279
14-7890-053
14-7916-000

Fuse, 1.0A, 5x20mm, time display

Valve, 3-way toggle

Tubing, 1/8" OD, Red, Translucent (per inch)

Tubing, 1/8" OD, Red, Translucent (per inch)

Tubing, 1/8" OD, Red, Translucent (per inch)

Tubing, 1/8" OD, Red, Translucent (per inch)

Tubing, 1/8" OD, Yellow, Translucent (per inch)

Tubing, 1/8" OD, Blue, Translucent (per inch)

Tubing, 1/8" OD, Blue, Translucent (per inch)

Tubing, 1/8" OD, Blue, Translucent (per inch)

Tubing, 1/8" OD, Blue, Translucent (per inch)

Tubing, 1/8" OD, Blue, Translucent (per inch)

SOLATek 72/AQUATek 70 external tap rinse kit. Includes activated carbon
filter, fittings, copper tubing, saddle valve and pressure regulator assembly.
SOLATek 72/AQUATek 70 rinse water reservoir kit. Includes 5 liter reservoir,
activated carbon filter, copper tubing and fittings.

Activated carbon filter assembly, blank water

Pressurized Reservoir

Ferrule, Super Flangeless, 1/16", PEEK

Ferrule, Super Flangeless, 1/16", PEEK

Ferrule, Super Flangeless, 1/16", PEEK

Ferrule, Super Flangeless, 1/16", PEEK

Ferrule, Super Flangeless, 1/16", PEEK

Solid State Relay, 240 VAC, 25A, 0 Volt

1/16" to 1/16" Valco, zero dead volume union

1/16" to 1/32" adapter fitting for 1/32" tubing installation to the 6-port
Nut, PEEK, Natural for 1/16" OD Tubing

Nut, PEEK, Natural for 1/16" OD Tubing

Nut, PEEK, Natural for 1/16" OD Tubing

Nut, PEEK, Natural for 1/16" OD Tubing

Nut, PEEK, Natural for 1/16" OD Tubing

Amber vial kit 40 ml, precleaned 72 vials (including cap and septa).
RS232 interface cable, 25 pin to 9 pin

Assy, RTD (24") Temp Sensor for Soil Valve, Mount

Assy, RTD (24") Temp Sensor for Soil Valve, Mount

Assy, RTD (24") Temp Sensor for Soil Valve, Mount

Assy, RTD (24") Temp Sensor for Soil Valve, Mount

Assy, RTD (24") Temp Sensor for Soil Valve, Mount

RTD assy, 1000 ohms, 0.125 X 1 LG., 24" leads (no connector) for cup
Assy, RTD (28") Temp Sensor for Sample Heater

Assy, RTD (34") Temp Sensor for Heated Water Resovoir

Needle guard

Temperature Control Board

Temperature Control Board

Temperature Control Board

Temperature Control Board

Motor Control Board

Microprocessor (CPU) Board

Microprocessor (CPU) Board

Microprocessor (CPU) Board for Stratum

CPU Board (for use with Stratum)

CPU Board (for use with Stratum)

CPU Board (for use with Stratum)

Valve Control Board

Robotic Arm Assembly w/ US Digital Encoders, s/n before US06349001
Needle Mount Block

Vial Tray 1-36

Vial Tray 37-72

Stainless steel needle, 3 stage

Assy, Chiller, SOLATek 72 (does not include recirculating bath)



14-7946-179
14-7956-000
14-7957-179
14-7958-179
14-7977-000
14-8001-086
14-8002-086
14-8002-186
14-8002-186
14-8003-086
14-8003-186
14-8004-086
14-8004-186
14-8004-286
14-8004-386
14-8005-086
14-8006-086
14-8007-186
14-8010-086
14-8011-086
14-8013-086
14-8014-086
14-8017-086
14-8018-086
14-8019-086
14-8020-086
14-8020-086
14-8020-186
14-8021-086
14-8031-090
14-8080-079
14-8081-079
14-8084-100
14-8089-000
14-8089-075
14-8089-090
14-8094-005
14-8094-200
14-8105-120
14-8105-320
14-8105-420
14-8129-300
14-8131-054
14-8142-026
14-8143-000
14-8144-000
14-8147-000
14-8149-179
14-8155-043
14-8159-000
14-8163-000
14-8191-000
14-8191-000
14-8196-079
14-8197-016
14-8235-000
14-8238-000
14-8239-000
14-8240-000
14-8241-000

Needle Gasket (rubber boot for needle)
Geared elevator belt

Calibration pad, tray

Callibration pod, gripper

Stepper motor assembly, mixer with screws
AC input power cable

DC power cable

Cable, Assembly, DC Power Harness
Cable, Assembly, DC Power Harness
24 VDC power cable

Cable, Assembly, 24 VDC.

Modular CPU to Valve cable

CPU to Valve Board cable, 24"

CPU to Valve board cable, 10"

Cable, Assembly, 6 lead Telephone line.
IS valve ribbon cable, 20 pin

IS valve ribbon cable, 30 pin

Pumper power and signal cable (blue pumper)
Cable assy, elevator sensors

X encoder cable, for Red Encoder

X motor cable

Elevator motor cable

AC to Solid State relay board cable
Motor harness cable

Elevator coil cable

Temp to Solid State relay board cable
Temp to Solid State relay board cable
Cable Assy, Temp to SS relay ribbon
Display cable

Internal Standard Interconnect Board
Calibration disk, elevator cup

Flag, gripper sensor

Elevator assembly (includes mixer motor)
CPU display board (w/ ROM), Ver. 2.2
ROM, with program 7000, Ver. 2.2
CPU display board (w/o ROM)

Gripper Liner

Gripper Assembly

Assy, Water reservoir/heaters, 110 V
Assy, Water Reservoir/Heater 110V
Assy, Water Reservoir/Heater 220V
Sample Cup, Vial Mixing Assembly

Spring, SS, 2.375 x .380 x .031TH (for stripper tab)

Switch, cutout, elevator sideswitch

X drive timing belt 75 pitch

Belt, 4"ID, mixing hub

IS assy, (including motors and valves)
Sensor Flag, IS Assembly

O-ring, Encoder (Dynapar)

Assy, fan, 24 VDC

Assy, IS motor (motor and connector only)
Assy, lighted display

Assy, lighted display

Gripper shroud

Fitting, Bulkhead, barbed, 0.25 ID tube
Assy, cartridge heater, 115 VAC

Assy, cartridge heater, 220V

24 VDC, Gripper Motor Assembly (motor and connector only)

Gripper, optical sensor
Elevator, optical sensor



14-8250-000
14-8254-043
14-8279-000
14-8280-000
14-8311-050
14-8312-090
14-8312-090
14-8312-090
14-8313-190
14-8313-190
14-8317-000
14-8317-100
14-8318-150
14-8318-150
14-8319-052
14-8354-000
14-8354-000
14-8389-157
14-8390-086
14-8391-000
14-8391-000
14-8414-016
14-8415-016

14-8417-000

14-8417-000

14-8417-000

14-8417-200

14-8417-200
14-8425-086
14-8425-186
14-8425-286
14-8425-386
14-8429-000
14-8430-000
14-8439-179
14-8440-179
14-8455-047
14-8465-002
14-8465-102
14-8466-086
14-8470-016
14-8470-016
14-8470-016
14-8470-016
14-8470-016
14-8477-086
14-8477-186
14-8477-286
14-8477-286
14-8477-286
14-8505-086
14-8541-000

14-8542-000
14-8558-000

Elevator motor assembly, 24 VDC, (motor and connector only)

O-ring, 3-stage needle

Assy, cartridge heater, mixing cup, 115 VAC

Assy, cartridge heater, mixing cup, 220V

Valve, 4-way IS, (Hamilton), 5 uL

Power Supply, triple out, +5/+15/-15 VDC

Power Supply, triple out, +5/+15/-15 VDC

Power Supply, triple out, +5/+15/-15 VDC

Power Supply, 24 VDC, 300W-Solatek Only

Power Supply, 24 VDC, 300W-Solatek Only

Valve, high-temperature 3-port, 24 VDC, soil valve

Solid Valve Assy, Atomx

3-port Series 66 Valve, 24 VDC

3-port Series 66 Valve, 24 VDC

250 L dilution syringe

Cryofocus trap heater assembly

Cryofocus trap heater assembly

Power/error LED assy (red square)

Cable assy, SOLATek 72 to 3000/3100/XPT/Stratum

Thermal fuse assembly

Thermal fuse assembly

Quick disconnect body (reservoir lid side)

Quick disconnect STE ( tubing side)

Duet™ High Throughput Interface. Interfaces two Teledyne Tekmar VOC
systems with any GC or GC/MS system.

Duet™ High Throughput Interface. Interfaces two Teledyne Tekmar VOC
systems with any GC or GC/MS system.

Duet™ High Throughput Interface. Interfaces two Teledyne Tekmar VOC
systems with any GC or GC/MS system.

Duet High Throughput Interface. Interfaces two Teledyne Tekmar PTCs with
any GC or GC/MS system.

Duet High Throughput Interface. Interfaces two Teledyne Tekmar PTCs with
any GC or GC/MS system.

Cable assy, Series 66 3-way valve, vent

Cable assy, Series 66 3-way valve, transfer

Cable assy, Series 66 3-way valve, water

Cable assy, Series 66 3-way valve, sweep

Sample tray (1-36), before US02315001, for All units w/ chillers

Sample tray (37-72), before US02315001, for all units w/ chillers

5-port Syringe Stem

4-port syringe stem

Timing Belt, syringe drive pumper

Tubing, PEEK, 1/8" OD, interconnect 4-port to 250 uL syringe

Tubing, PEEK, 1/8" OD, interconnect 5-port to Needle

Assy, cup ground wire

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Plug Nut, 1/4-28, Tefzel, Flat Bottom

Cable assy, SOLATek 72 to 2000

Cable assy, SOLATek 72 to "Other concentrator”

Cable, Archon-Tekmar Interface

Cable, Archon-Tekmar Interface

Cable, Archon-Tekmar Interface

Encoder cable assembly, syringe drive pumper

Pumper bracket retrofit kit when replacing old style "black" pumper

Soil line w/ fittings, SOLATek, spare part only, 1/16" Silcosteel, needle to soil
valve

Drain Line Kit, SOLATek 72



14-8558-002
14-8562-016
14-8563-005
14-8580-067
14-8580-167
14-8580-267
14-8580-367

Drain Tubing (per foot)

Nylon tube fitting (for bottom of sample cup)

O-Ring for Rinse Reservoir

5 ml sample loop, Peek, AQUATek 70
25 ml sample loop, Peek, AQUATek 70
20 ml sample loop, Peek, AQUATek 70
10 ml sample loop, Peek, AQUATek 70

14-8588-100
14-8589-100
14-8595-002
14-8595-002
14-8596-079
14-8610-101
14-8632-073
14-8641-067
14-8659-016
14-8659-016
14-8671-000
14-8674-000
14-8675-002

4-port syringe drive assembly, pumper only

5-port syringe drive assembly, pumper only

Tubing, 1/8", Peek, (per foot)

Tubing, 1/8", Peek, (per foot)

Vial Mixing Cup Assembly

Syringe plunger mounting screw, 8-32 shoulder screw, 5-port
Clamp, Water Heater

Loop, 5ml, Silcosteel

Nut, Flangless, Short, 1/8, Peek

Nut, Flangless, Short, 1/8, Peek

4-way union, Silcosteel, includes fittings and capnut
Mount assembly, Silcosteel w/ fittings (no heaters)
Mount Sample Tubing Assembly w/ Fittings

14-8711-086
14-8712-086
14-8714-086
14-8715-086
14-8748-094

14-8763-300
14-8780-090
14-8781-190
14-8781-190
14-8781-190
14-8781-390
14-8781-490
14-8782-090
14-8785-000
14-8785-000
14-8785-100
14-8788-000
14-8788-200
14-8788-200
14-8788-300
14-8788-300
14-8789-000
14-8789-100
14-8789-200
14-8789-200
14-8789-300
14-8789-400
14-8789-500
14-8790-120
14-8790-420
14-8790-820
14-8790-920
14-8790-C20
14-8790-D20
14-8790-E20
14-8790-F20
14-8791-100
14-8791-100
14-8791-200

Gripper harness adapter
Motor harness adapter
Gripper flat flex harness
Motor flat flex harness
Sparger Shield, plastic

X Encoder Assy, US Digital Encoder, requires 14-8833-086 if replacing red

encoder

AC Output Board

PCB, DC Control

PCB, DC Control

PCB, DC Control

PCB, DC Control

PCB, DC Control

Power Supply

Oven RTD assembly

Oven RTD assembly

Assy RTD, Oven, Atomx

Oven Cartridge Heater 110v (XPT)
Oven Cartridge Heater 240V (XPT)
Oven Cartridge Heater 240V (XPT)
Assy, Oven Heater, 115V

Assy, Oven Heater, 115V

Mount Cartridge Heater 110v (XPT)
Mount Cartridge Heater 230v (XPT)
Assy, Mount HTR 115V

Assy, Mount HTR 115V

Mount Cartridge Heater 230V (Stratum)
Soil Valve Heater, Atomx 115V

Soil Valve Heater, Atomx 230V
Transferline Heater assembly, 72", 115v
Transferline Heater assembly, 72", 220V
Transfer line assy; 230V

Transfer line assy, 115V

Transfer Line Heater Assy, 72", 115V
Transfer Line Heater Assy, 72", 230V
Assy, Transfer Line Heater 115V
Assy, Transfer Line Heater 230V
Trap Heater assembly, 110V

Trap Heater assembly, 110V

Trap Heater assembly, 230V



14-8791-200
14-8793-086
14-8794-086
14-8796-086
14-8796-186
14-8796-186
14-8797-086
14-8797-086
14-8797-286
14-8797-386
14-8798-086
14-8798-186
14-8798-286
14-8798-386
14-8800-086
14-8803-000
14-8813-000
14-8814-009
14-8820-016
14-8820-016
14-8820-016
14-8829-055
14-8831-000
14-8833-086
14-8834-000
14-8834-000
14-8834-000
14-8834-100
14-8834-100
14-8834-155
14-8834-300
14-8834-500
14-8834-500
14-8834-600
14-8834-600
14-8836-100
14-8838-057
14-8856-000
14-8856-000
14-8856-000
14-8856-000
14-8856-000
14-8876-086
14-8876-086
14-8876-086
14-8876-186
14-8876-386

14-8898-075

14-8898-075
14-8900-074
14-8900-117
14-8900-PRT

Trap Heater assembly, 230V

AC Power Cable

DC Power Cable

Cable Assembly, IRDA to CPU

Short LNET Cable

Short LNET Cable

Cable, Assembly, CPU to SPI Interface.

Cable, Assembly, CPU to SPI Interface.

Cable Assy, CPU SPI Interface, StratUm

Cable Assy, CPU to SPI Interface

25 PIN DC board to Back Panel

Cable, Assembly, GCIO Interface.

Cable Assy, AA70 to Concentrator

Cable Assy, GC/IO Interface

Temperature Board DC Cable Assembly

Stepper motor assembly, X,Y, Z

Flex cable replacement kit

Washer, Kalrez for 4-port and 5-port valves

Nut, 1/16", Short, PEEK

Nut, 1/16", Short, PEEK

Nut, 1/16", Short, PEEK

Encoder, x, y, and z (Dynapar)

Y & Z encoder replacement kit

X encoder cable assembly, black encoder
Guardian Foam Sensor option

Guardian Foam Sensor option

Guardian Foam Sensor option

Guardian Foam Sensor and Eliminator Retrofit Kit
Guardian Foam Sensor and Eliminator Retrofit Kit
Foam Module, All Units, Green

Foam Sensor/Eliminator, Stratum

Kit, Atomx Foam Sensor

Kit, Atomx Foam Sensor

Kit, Atomx Eliminator Upgrade

Kit, Atomx Eliminator Upgrade

3000/3100 Guardian foam sensor retrofit kit.

AC Troubleshooting LED

Assy, 10mL Antifoam 1520

Assy, 10mL Antifoam 1520

Assy, 10mL Antifoam 1520

Assy, 10mL Antifoam 1520

Assy, 10mL Antifoam 1520

Mass Flow Controller Cable

Mass Flow Controller Cable

Mass Flow Controller Cable

Cable, Assembly, MFC Comm.

Cable Assy, Mass Flow Controller Comm/Power
VOC Teklink Control Software capable of controlling Velocity XPT Purge and
Trap Concentrators with AQUATek 70/SOLATek 72 autosampler systems.
VOC Teklink Control Software capable of controlling Velocity XPT Purge and
Trap Concentrators with AQUATek 70/SOLATek 72 autosampler systems.
User Manual, Velocity XPT

Shipping Carton, Velocity XPT

Velocity Refurb Kit, parts only

14-8900-PTLV Velocity refurb kit, w/out 6-port valve

14-8900-RFB
14-8901-450
14-8901-450
14-8901-550
14-8901-550

Velocity Refurb Kit, with labor

LED Cable, Drain Valve

LED Cable, Drain Valve

Valve LED Power Cable, W/3" LED Ext.
Valve LED Power Cable, W/3" LED Ext.



14-8901-600
14-8901-650
14-8901-750
14-8901-750
14-8902-000
14-8904-586
14-8905-116
14-8906-050
14-8906-050
14-8907-000
14-8908-000
14-8909-043
14-8909-043
14-8911-003
14-8914-016
14-8914-016
14-8914-016
14-8915-016
14-8915-016
14-8916-016
14-8916-016
14-8918-016
14-8919-016
14-8920-000
14-8920-100
14-8920-200
14-8920-200
14-8920-300
14-8920-300
14-8920-300
14-8920-500
14-8920-500
14-8920-500
14-8920-600
14-8920-600
14-8920-600
14-8921-000
14-8921-000
14-8921-000
14-8921-000
14-8921-000
14-8922-000
14-8922-000
14-8922-000
14-8922-000
14-8922-000
14-8922-100
14-8922-100
14-8923-000
14-8923-000
14-8923-000
14-8923-000
14-8923-000
14-8924-000
14-8924-000
14-8924-000
14-8924-000
14-8924-000
14-8924-100
14-8924-100

Valve Manifold Assembly w/ 3-port Soleniod Valves, Fittings, and Cables
Solenoid Valve Manifold Assy, LQX

3-port solenoid valve for manifold

3-port solenoid valve for manifold

Discrete 3-port Solenoid Valve Assembly, w/ fittings (Drain or Eliminator Valves)
Assembly, valve LED power cable

1/8" to 1/16" Union Silcosteel Coated w/ ferrules (No 1/8" ferrule)
Mass Flow Controller Assy

Mass Flow Controller Assy

Mass Flow Controller Assy, HT3

Trap Injection Port w/ septa (XPT)

Thermal Green Septa for Trap Injection Port

Thermal Green Septa for Trap Injection Port

DryFlow Moisture Trap (W)

Nut, 1/8 Black Delrin Upchurch

Nut, 1/8 Black Delrin Upchurch

Nut, 1/8 Black Delrin Upchurch

1/8" Manifold Bushing, Delrin

1/8" Manifold Bushing, Delrin

Nut, Black ,Upchurch, 1/16 Long

Nut, Black ,Upchurch, 1/16 Long

1/8" TO 1/8" Bulkhead union silcosteel coated

1/8" TO 1/16" Graphite Vespel Reducing Ferrule
Sample Heater Assembly for all glassware types, 110V
Sample Heater Assembly for all glassware types, 220V
Sample Heater Assembly for all glassware types, 110V
Sample Heater Assembly for all glassware types, 110V
Assy, Heater, Sample 5/25mL 230VAC

Assy, Heater, Sample 5/25mL 230VAC

Assy, Heater, Sample 5/25mL 230VAC

Atomx, Sample Heater Kit (115V)

Atomx, Sample Heater Kit (115V)

Atomx, Sample Heater Kit (115V)

Atomx, Sample Heater Kit (230V)

Atomx, Sample Heater Kit (230V)

Atomx, Sample Heater Kit (230V)

Sparger kit, 5mL fritted

Sparger kit, 5SmL fritted

Sparger kit, 5SmL fritted

Sparger kit, 5mL fritted

Sparger kit, 5mL fritted

Sparger kit, 25 mL fritted

Sparger kit, 25 mL fritted

Sparger kit, 25 mL fritted

Sparger kit, 25 mL fritted

Sparger kit, 25 mL fritted

25mL frit Sparge Glassware Kit Atomx

25mL frit Sparge Glassware Kit Atomx

Sparger kit, 5 mL fritless

Sparger kit, 5 mL fritless

Sparger kit, 5 mL fritless

Sparger kit, 5 mL fritless

Sparger kit, 5 mL fritless

Sparger kit, 25 mL fritless

Sparger kit, 25 mL fritless

Sparger kit, 25 mL fritless

Sparger kit, 25 mL fritless

Sparger kit, 25 mL fritless

25mL fritless Sparge Glassware Kit Atomx

25mL fritless Sparge Glassware Kit Atomx



14-8925-000
14-8925-100
14-8925-100
14-8926-000
14-8926-100
14-8926-100
14-8927-002
14-8927-002
14-8927-002
14-8927-002
14-8927-002
14-8928-002
14-8928-002
14-8928-002
14-8928-002
14-8938-002
14-8938-002
14-8938-002
14-8938-002
14-8938-002
14-8962-101
14-8981-350

14-8993-000

14-8993-000

14-8993-100

14-8993-100
14-8997-000
14-9001-077
14-9001-077
14-9001-177
14-9001-177
14-9024-016
14-9025-000
14-9035-000
14-9035-100
14-9042-016
14-9043-016
14-9053-080

Sparger kit, 5 mL needle

kit, 5mL needle sparge, Stratum

kit, 5mL needle sparge, Stratum

Sparger kit, 25 mL needle

kit, 25mL needle sparge, Stratum

kit, 25mL needle sparge, Stratum

PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Green (per foot)

PEEK Tubing, 1/16" OD, Orange (per foot)

PEEK Tubing, 1/16" OD, Orange (per foot)

PEEK Tubing, 1/16" OD, Orange (per foot)

PEEK Tubing, 1/16" OD, Orange (per foot)
Tubing, Silcosteel, 1/16"OD x .04" ID (no siloxane)
Tubing, Silcosteel, 1/16"OD x .04" ID (no siloxane)
Tubing, Silcosteel, 1/16"OD x .04" ID (no siloxane)
Tubing, Silcosteel, 1/16"0OD x .04" ID (no siloxane)
Tubing, Silcosteel, 1/16"0OD x .04" ID (no siloxane)
Syringe plunger mounting screw, 8-32 shoulder screw, 4-port
5-port syringe valve, w/ nuts, ferrules, & washers

Cryofocusing Module for StratUm PTC, 110V. Cryofocusing trap for use with
capillary columns from 0.53 to 0.20mm ID (non-split applications). Instruction
manual and interface to StratUm PTC included. Requires StratUm PTC for
operation. If connecting to an Agilent 6890 you must order a 6890 bracket kit
P/N 14-7341-280. (For backpressure regulated systems you must purchase an
external regulator assembly P/N 14-3938-000)

Cryofocusing Module for StratUm PTC, 110V. Cryofocusing trap for use with
capillary columns from 0.53 to 0.20mm ID (non-split applications). Instruction
manual and interface to StratUm PTC included. Requires StratUm PTC for
operation. If connecting to an Agilent 6890 you must

order a 6890 bracket kit P/N 14-7341-280. (For backpressure regulated
systems you must purchase an external regulator assembly P/N 14-3938-
000)

Cryofocusing Module for StratUm PTC, 230V. Cryofocusing trap for use with
capillary columns from 0.53mm to 0.20mm ID (non-split applications). instruction
manual and interface to StratUm PTC included. Requires StratUm PTC for
operation. If connecting an Agilent 6890 you must order a 6890 bracket kit P/N
14-7341-280. (For backpressure regulated systems you must purchase an
external regulator assembly P/N 14-3938-000)

Cryofocusing Module for StratUm PTC, 230V. Cryofocusing trap for use with
capillary columns from 0.53mm to 0.20mm ID (non-split applications).
Instruction manual and interface to StratUm PTC included. Requires StratUm
PTC for operation. If connecting an

Agilent 6890 you must order a 6890 bracket kit P/N 14-7341-280. (For
backpressure regulated systems you must purchase an external regulator
assembly P/N 14-3938-000)

Forward Focusing Chamber Assembly w/ Fittings

Electronic Crimper for 12x32 mm vials.(115V)

Electronic Crimper for 12x32 mm vials.(115V)

Electronic Crimper for 12x32mm vials. (230V)

Electronic Crimper for 12x32mm vials. (230V)

Manifold Frit, stainless steel, to vent valve

1/16" PEEK tubing retrofit kit for units before SN US02315001

FFC Cartridge Heater 120V

FFC Cartridge Heater 230V

Sample Mount needle ferrule, 1/16"

Sample mount needle nut, 1/16"

Side Latch, snap-in for top lid



14-9085-120
14-9085-220
14-9108-034
14-9123-000

14-9126-050

14-9126-050
14-9126-150
14-9126-150
14-9126-250
14-9126-250
14-9126-350
14-9126-350
14-9131-000
14-9133-079
14-9133-179
14-9139-000
14-9145-050
14-9145-150
14-9145-250
14-9145-350
14-9145-450
14-9155-000
14-9172-067
14-9172-067
14-9180-090
14-9181-086
14-9182-086
14-9182-086
14-9183-000
14-9183-100
14-9185-090
14-9185-090
14-9185-090
14-9240-100
14-9240-200
14-9258-000
14-9266-000
14-9266-400

14-9300-000

TRL heater assy, 115V

TRL heater assy, 230V

Fuse, 8 pico amp

Needle stripper assy

6-port Valve Assembly, small body, 24 VDC includes Valve, fittings, actuator,
controller and cable

6-port Valve Assembly, small body, 24 VDC includes Valve, fittings, actuator,
controller and cable

6-port Valve small body w/ slider.

6-port Valve small body w/ slider.

6 port actuator only, SM body valve

6 port actuator only, SM body valve

Rotor, 6-port valve, small body after SN US04119002

Rotor, 6-port valve, small body after SN US04119002

Vial loader motor assy

Vial insert for 9ml and 12ml vials. (1 insert required per carrousel position)
Vial insert for 11ml vials. 10pk (1 insert required per carrousel position)
Dual Optical Sensor Assy

8-Port Valve Assembly

8-port valve only

8-port valve rotor

8-port valve and actuator

8-port valve control box

Sample/mixer motor assy

HT3 1ml loop, Silco coated.

HT3 1ml loop, Silco coated.

PCBA, Processor, Motor

Cable, Assembly, CPU to Display Cable.

Cable Assy, RJ45 Ethernet

Cable Assy, RJ45 Ethernet

Oven heater cartridge assy, 115V

Oven heater cartridge assy, 230V

PCBA, AC Output Board

PCBA, AC Output Board

PCBA, AC Output Board

Platen heater assembly, 115 VAC

Platen heater assembly, 230V

Platen worm assembly

Carrousel drive assy

Carousel, Drive Assy, AQUATek 100

Teledyne Tekmar HT3 Headspace Autosampler. This static headspace
autosampler comes with our 60 position autosampler, 10 position platen heater,

integrated Optimix equilibrium system, and completely heated Silcosteel sample

pathway. Entire system can be heated from ambient

up to 300C in increments of 1C. Valve and loop configuration includes
1ml standard loop. System's gas flows and pressure are electronically
monitored and controlled. Windows XP or 2000 is required to operated
the included HT3 TekLink software. Power requirements are 115V,
50/60 Hz, 10A. Make sure to order the appropriate GC interface cable to
ensure proper installation.



14-9300-00S
14-9300-075
14-9300-100
14-9300-10S

Teledyne Tekmar HT3 Dynamic Headspace Autosampler. This dynamic
headspace autosampler comes with our 60 position autosampler, 10 position
platen heater, integrated Optimix equilibrium system, and completely heated
Silcosteel sample pathway. Entire system, including

trap, can be heated from ambient up to 300C in increments of 1C. Valve
and loop configuration includes 1ml standard loop. Dynamic mode

includes 12" x 1/8" Tenax/Silica Gel and Charcoal (#3) trap and Vocarb
3000 (K) trap. Static and Dynamic modes may be used interchangeably
throughout the same schedule. System's gas flows and pressure are
electronically monitored and controlled. Windows XP or 2000 is required

to operate the included HT3 TekLink software. Power requirements are
115V, 50/60 Hz, 10A. Make sure to order the appropriate GC interface
cable to ensure proper installation.

HT3 TekLink Software.

HT3 Static 230V version.

HT3 Dynamic, 230V version.

14-9300-1UPG Dynamic(Trap) Upgrade Kit, 115V. This does not include labor.
14-9300-2UPG Dynamic(Trap) Upgrade Kit, 230V. This does not include labor.

14-9300-IQL

Loop Documentation Only

14-9300-IQLF Loop Full IQ/OQ with Labor and Docs
14-9300-IQLL Loop Installation Qualification with Labor and Docs

14-9300-1QT

Trap Documentation Only

14-9300-IQTF Trap Full IQ/OQ with Labor and Docs

14-9300-1QTL Trap Installation Qualification with Labor and Docs
14-9300-OQLL Loop Operation Qualification with Labor and Docs
14-9300-OQTL Trap Operation Qualification with Labor and Docs

14-9333-003
14-9333-403
14-9333-403
14-9338-000
14-9338-100
14-9363-100
14-9384-002
14-9396-086
14-9397-100
14-9401-000
14-9401-000
14-9403-086
14-9404-000
14-9404-100
14-9407-086
14-9410-016
14-9414-067
14-9414-067
14-9415-067
14-9415-067
14-9415-167
14-9415-167
14-9416-067
14-9416-067
14-9417-067
14-9417-067
14-9419-067
14-9428-035
14-9432-034
14-9433-034
14-9434-034
14-9437-000
14-9477-000
14-9525-300

Trap, BTEX + MTBE

Strat-Trap, BTEX + MTBE
Strat-Trap, BTEX + MTBE

Elevator Mechanical Stop for Vextra PK stir motor, prior to SNUS04162009
Elevator Mechanical Stop for SKC SST stir motor, after SNUS04162009
Assy, Cooling Fan, Velocity

PEEK Tubing, restrictive, 0.010 ID x 1/16" OD, Blue (per foot)
Cable, Assembly, Valco/MFC Power.
Optical Sensor Assy, 24"

Stepper motor Assy

Stepper motor Assy

Cable, Assembly, Main AC Harness.
Oven RTD Assy, High Temp Leads
Platen RTD Assy

Cable, Assembly, Valco Control.
Quick Disconnect, 1/16".

HT3 100ul loop, Silco coated.

HT3 100ul loop, Silco coated.

HT3 250ul loop, Silco coated.

HT3 250ul loop, Silco coated.

HT3 300ul loop, Silco coated

HT3 300ul loop, Silco coated

HT3 500ul loop, Silco coated.

HT3 500ul loop, Silco coated.

HT3 2 ml loop, Silco coated.

HT3 2 ml loop, Silco coated.

HT3 5 ml loop, Silco coated.

Ferrite filter assy

CAP Fuse, 2A

CAP Fuse, 3.15A

CAP Fuse, 5A

Cooling fan, front and rear

RTD Jumper

Rinse Station



14-9571-022
14-9577-090
14-9577-090
14-9593-090
14-9593-090
14-9602-055
14-9620-294
14-9622-002
14-9622-002
14-9623-002
14-9623-002
14-9639-090
14-9639-090
14-9640-090
14-9642-002
14-9654-086
14-9661-055
14-9719-000
14-9754-086
14-9754-086
14-9754-086
14-9754-086
14-9754-086
14-9754-086
14-9754-086
14-9778-016
14-9778-016
14-9784-250
14-9786-079
14-9790-000
14-9790-100
14-9799-000

14-9800-075

14-9800-075

14-9800-100

14-9800-1e0

Latch, Front Cover

PCB, LED Banner Control Assembly

PCB, LED Banner Control Assembly

Power Supply, 24 VDC

Power Supply, 24 VDC

Encoder, x,y, and z (US Digital)

Drain Tray

Tubing, Siltek, 1/16" OD x 0.040" ID (per foot)

Tubing, Siltek, 1/16" OD x 0.040" ID (per foot)

Tubing, Transfer Line, Siltek (per foot), 0.021 ID x .029 OD
Tubing, Transfer Line, Siltek (per foot), 0.021 ID x .029 OD
Power Supply 25W

Power Supply 25W

Power Supply, 65 W, 12VDC

Tubing, Wire Reinforced (Clear), ea= 1ft

LED Banner cable assy

Encoder

Pumper, Kloehn, V6

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Shimadzu 2010-2014 Interface Cable

Nut 1/8", 1/4 - 28, PEEK, Long

Nut 1/8", 1/4 - 28, PEEK, Long

7-Port Valve for Syringe Pumper

Vial Stripper Adapter

Carriage Assembly w/US Digital Encoders

Carriage Assembly w/out Encoders

Mass Flow Controller Assy

VOC Teklink Control Software capable of controlling the StratUm PTC with
AQUATek 70 / SOLATek 72 autosampler systems

VOC Teklink Control Software capable of controlling the StratUm PTC with
AQUATek 70 / SOLATek 72 autosampler systems

StratUm PTC Sample Concentrator 110V. Includes 60" Siltek heated
transferline, Siltek tubing and Siltek treated fittings throughout the sample
pathway, heated sample mount, water removal system, U-Trap technology,
glassware bypass injection port, 5 ml frit sample sparger,

Vocarb 3000 trap, #9 trap, spare fuses, instruction manual, and RS-232
interface capability. Includes VOC Teklink software. Requires for

operation a PC with CD-ROM drive running Microsoft Windows XP

Only. Also requires the appropriate GC or GC/MS interface cable.

StratUm PTC Sample Concentrator 110V with Guardian Foam Sensor / Foam
Eliminator. Includes 60" Siltek heated transferline, Siltek tubing and Siltek
treated fittings throughout the sample pathway, heated sample mount, water
removal system, U-Trap technology, glassware

bypass injeciton port, 5 ml frit sample sparger, Vocarb 3000 trap, #9 trap,

spare fuses, instruction manual, and RS-232 interface capability.

Includes VOC Teklink software. Requires for operation a PC with CDROM drive
running Microsoft Windows XP Only. Also requires the

appropriate GC or GC/MS interface cable. If operating the StratUm PTC
without an autosampler a rinse reservoir or rinse tap kit is required.



14-9800-200

14-9800-2e0
14-9800-KIT
14-9800-PRT
14-9800-PTLV
14-9800-RFB
14-9801-016
14-9809-054
14-9828-120
14-9828-120
14-9828-220
14-9828-220
14-9840-100
14-9841-028
14-9845-016
14-9845-016
14-9847-000
14-9849-000
14-9852-090
14-9857-086
14-9858-086
14-9879-086
14-9880-086
14-9895-120
14-9895-120
14-9895-220
14-9895-220
14-9908-003
14-9908-003
14-9908-403
14-9908-403
14-9909-403
14-9909-403
14-9924-016
14-9927-002
14-9927-002
14-ACAN-017
14-ACAN-074
14-ACAN-KIT
15-0000-017
15-0000-017
15-0000-075
15-0000-075

StratUm PTC Sample Concentrator 230V. Includes 60" Siltek heated
transferline, Siltek tubing and Siltek treated fittings throughout the sample
pathway, heated sample mount, water removal system, U-Trap technology,
glassware bypass injection port, 5 ml frit sample sparger,

Vocarb 3000 trap, #9 trap, spare fuses, instruction manual, and RS-232
interface capability. Includes VOC Teklink software. Requires for

operation a PC with CD-ROM drive running Microsoft Windows XP only.
Also requires the appropriate GC or GC/MS interface cable.

StratUm PTC Sample Concentrator 230V with Guardian Foam Sensor / Foam
Eliminator. Includes 60" Siltek heated transferline, Siltek tubing and Siltek
treated fittings throughout the sample pathway, heated sample mount, water
removal system, U-Trap technology, glassware

bypass injection port, 5 ml frit sample sparger, Vocarb 3000 trap, #9 trap,
spare fuses, instruction manual, and RS-232 interface capability.
Includes VOC Teklink software. Requires for operation a PC with CDROM drive
running Microsoft Windows XP only. Also requires the

appropriate GC or GC/MS interface cable. If operating the StratUm PTC
without an autosampler a rinse reservoir or rinse tap kit is required.

Kit box, Stratum

StratUm PTC Refurb Kit, parts only

Refurb Kit, Stratum, Parts Only, W/O 6-Port

StratUm PTC Refurb Kit, with labor

Mount/Tee Assy, Siltek w/ Fittings (no heaters)

65Ib Gas Shock

Trap Heater, Nichrome Wire, 115V

Trap Heater, Nichrome Wire, 115V

Trap Heater, Nichrome Wire, 230V

Trap Heater, Nichrome Wire, 230V

Trap Blower Fan Assy

Switch, Limit, Miniature

Trap Manifold Assy w/ Fittings

Trap Manifold Assy w/ Fittings

Cooling Fan Assy, Low CFM

Top of Trap Injection Port Assy (StratUm)

Power Supply, +24V, 65W

DC power harness cable assy

AC power harness cable assy

Trap AC extension cable, 115V

Trap Heater RTD extension cable assy

Heater, Condensate Trap, 115V

Heater, Condensate Trap, 115V

Heater, Condensate Trap, 230V

Heater, Condensate Trap, 230V

#9 Trap, straight (XPT)

#9 Trap, straight (XPT)

Strat-Trap, #9 (U-shaped)

Strat-Trap, #9 (U-shaped)

Strat-Trap, Tenax/Silica Gel/Carbo Sieve Il (#10)

Strat-Trap, Tenax/Silica Gel/Carbo Sieve Il (#10)

Fitting, 1/4-28 to Barb

Tubing, Siltek, 1/16" OD x 0.02" ID (per foot)

Tubing, Siltek, 1/16" OD x 0.02" ID (per foot)

Packaging, AUTOCan

AUTOCan manual

Kit box

Box and Foam, Atomx

Box and Foam, Atomx

Atomx Teklink, CD

Atomx Teklink, CD



15-0000-100

15-0000-10C

15-0000-1E0

15-0000-1EC

15-0000-200

15-0000-20C

15-0000-2E0

15-0000-2EC
15-0000-KIT
15-0076-280
15-0086-090
15-0087-002
15-0088-016
15-0100-100
15-0100-200
15-0110-000

Atomx automated sample prep system for solids and liquids 110VAC. 80 vial
position autosampler and built in Purge and Trap module with automated
methanol extraction capability. System includes 3 standard spiking valves, mass
flow controller, and a #9 analytical trap. Package includes Atomx Teklink, RS-
232 cable, 5mL fritted glassware, water reservoir, installation kit box, and 1 year
warranty.

Atomx automated sample prep system for solids and liquids with chiller tray
110VAC. 80 vial position autosampler and built in Purge and Trap module with
automated methanol extraction capability. System includes 3 standard spiking
valves, mass flow controller, and a #9 analytical trap. Package includes Atomx
Teklink, RS-232 cable, 5mL fritted glassware, water reservoir, installation kit
box, and 1 year warranty. System also requires a re-circulating bath pn 21-
0700-000 for cooling operation.

Atomx automated sample prep system for solids and liquids with Eliminator
foam prevention 110VAC. 80 vial position autosampler and built in Purge and
Trap module with automated methanol extraction capability. System includes 3
standard spiking valves, mass flow controller, and a #9 analytical trap. Package
includes Atomx Teklink, RS-232 cable, 5mL fritted glassware, water reservoir,
installation kit box, and 1 year warranty.

Atomx automated sample prep system for solids and liquids with chiller tray and
Eliminator foam prevention 110VAC. 80 vial position autosampler and built in
Purge and Trap module with automated methanol extraction capability. System
includes 3 standard spiking valves, mass flow controller, and a #9 analytical
trap. Package includes Atomx Teklink, RS-232 cable, 5mL fritted glassware,
water reservoir, installation kit box, and 1 year warranty. System also requires a
recirculating bath pn 21-0700-000 for cooling operation.

Atomx automated sample prep system for solids and liquids 230VAC. 80 vial
position autosampler and built in Purge and Trap module with automated
methanol extraction capability. System includes 3 standard spiking valves, mass
flow controller, and a #9 analytical trap. Package includes Atomx Teklink, RS-
232 cable, 5mL fritted glassware, water reservoir, installation kit box, and 1 year
warranty.

Atomx automated sample prep system for solids and liquids with chiller tray
230VAC. 80 vial position autosampler and built in Purge and Trap module with
automated methanol extraction capability. System includes 3 standard spiking
valves, mass flow controller, and a #9 analytical trap. Package includes Atomx
Teklink, RS-232 cable, 5mL fritted glassware, water reservoir, installation kit
box, and 1 year warranty. System also requires a re-circulating bath pn 21-
0701-000 for cooling operation.

Atomx automated sample prep system for solids and liquids with Eliminator
foam prevention 230VAC. 80 vial position autosampler and built in Purge and
Trap module with automated methanol extraction capability. System includes 3
standard spiking valves, mass flow controller, and a #9 analytical trap. Package
includes Atomx Teklink, RS-232 cable, 5mL fritted glassware, water reservoir,
installation kit box, and 1 year warranty.

Atomx automated sample prep system for solids and liquids with chiller tray and
Eliminator foam prevention 230VAC. 80 vial position autosampler and built in
Purge and Trap module with automated methanol extraction capability. System
includes 3 standard spiking valves, mass flow controller, and a #9 analytical
trap. Package includes Atomx Teklink, RS-232 cable, 5mL fritted glassware,
water reservoir, installation kit box, and 1 year warranty. System also requires a
recirculating bath pn 21-0701-000 for cooling operation.

Installation Kit Box

Tray, Carousel, 80 Position Atomx

PCB, Temp Control

Tubing, Drain, Self Retracting (per foot)

Union, 1/4" Brass

Heater Assy, Sample Vial

Heater Assy, Sample Vial, 55W, 230VAC

Belt, Mixer Drive, Atomx



15-0112-000
15-0112-100
15-0129-053
15-0136-002
15-0171-016
15-0180-300
15-0185-079
15-0197-090
15-0201-024
15-0201-024
15-0202-079
15-0202-079
15-0216-000
15-0233-031
15-0236-050
15-0236-050
15-0255-000
15-0258-000
15-0258-000
15-0259-000
15-0270-052
15-0271-000
15-0271-000
15-0272-002
15-0272-002
15-0273-000
15-0274-050
15-0275-250
15-0277-000
15-0278-050
15-0279-000
15-0280-050
15-0285-016
15-0290-086
15-0290-086
15-0291-000
15-0291-000
15-0293-000
15-0380-090
15-0380-190
15-0408-100
15-0408-200
15-0439-000
15-0439-000
15-0457-053
15-0463-180
15-0485-000
15-0485-050

Manifold, Is Valve Atomx

3 POS Manifold (w/ 1-plug), Internal Standard Valve AQUATek 100

Needle, 3 Stage, Atomx

Tubing, 1/4" OD Blue Polyurethane (per foot)

Sample Mount Assy, w/o Fittings Atomx
Vial Retraction Assy Atomx

Bearing Guide, Carousel Tray Atomx
PCB, Aux DC Board

Vessel, 15mL Amber IS

Vessel, 15mL Amber IS

Bushing, Peek W/ O-Ring, IS Vessel
Bushing, Peek W/ O-Ring, IS Vessel
Assy, Elevator Sample Motor, Atomx
Knob, Carousel Tray Atomx

Valve, Is Atomx

Valve, Is Atomx

Carousel, Drive Assy, Atomx

Stir Bar, Polygon 0.25 x 0.75"

Stir Bar, Polygon 0.25 x 0.75"

Guard, Assy Mount Plastic, Atomx
Syringe, 27 mL With Side Port
Mounting Kit, IS Valve

Mounting Kit, IS Valve

Line Assy, I.S., w/ Minstac Connector
Line Assy, I.S., w/ Minstac Connector
Screen, 12 UM, Inline, IS Assembly
6-Port Valve Assy .030 Port W Conn
6-Port Valve Actuator Assembly
Clamp, Ring Valco Valve Heavy
Check Valve (CV-3322)

Blank Water Reservoir, 10 Liters
Valve, 24VDC, LQX 12

1/8" Vespel ferrule

USB to RS232 Converter Cable

USB to RS232 Converter Cable
Chiller, Atomx

Chiller, Atomx

Lubricant, Dupont Krytok #GPL206
PCB, Motor Control

PCBA, Motor Control, A100

Oven Heater Assy, Atomx 115V
Oven Heater Assy, Atomx 230V
External Pressure Regulator
External Pressure Regulator
2-Stage Sample Needle

Carousel, 100 Position, 40ml Vial
Drain/Foam 24VDC Solenoid Valve Kit
Valve 24VDC, SMC

AQUATek 100 Liquid Autosampler, universal voltage with 5mL PEEK sample
loop. Including 100 vial (40mL) capacity, 2 position variable dosing standard
valves. Includes chiller tray, blank water reservoir, start up kit, required software
for Stratum and Velocity operation, and 1 year warranty. If installing to a Velocity
XPT with serial number US07320009 or earlier p/n 14-8781-190 D.C. Output
board will be required for proper operation. Pricing available on Velocity XPT
spare parts list.

Box and Foam

A-100 Software & Manual CD

Kit Box

Pull Handle

PCB, AT-100 Temp Board

15-0500-000
15-0500-017
15-0500-075
15-0500-KIT
15-0503-000
15-0504-090



15-0507-000
15-0528-100
15-0545-067
15-0545-167
15-0545-267
15-0545-367
15-0551-000
15-0554-073
15-0561-020
15-0650-000
15-0650-200
15-0806-200
152-104

21-0700-000

21-0700-000

21-0701-000

21-0701-000
885-291
885-291
885-291
885-291

BR-8900-RFB
Iltem No.
Iltem No.
Iltem No.

Service Loop Tubing Assy

Upgraded Kit, A100 pH Sensor
Sample Loop, PEEK, 5ml A-100
Sample Loop, PEEK, 25ml A-100
Sample Loop, PEEK, 20ml A-100
Sample Loop, PEEK, 10ml A-100
Concentrator Adapter Cable 25 to 9 pin
Clamp - Cable, Adjustable

Assy, Water Reservoir/Heater Universal Voltage
Pressure Regulator Assy, Atomx-after US10313001
Pressure Regulator Upgrade Kit, Atomx - Before US10313001

Regulating, Self Relieving, 0-15psi
Tube TFE, IND, 1/4 D x 3/16 ID

Recirculating bath, refrigerated, Model 2050W.

size - 12-1/2" x 8-3/4" footprint

Recirculating bath, refrigerated, Model 2050W.

size - 12-1/2" x 8-3/4" footprint

Recirculating bath, refrigerated, Model 2050W
size - 12-1/2" x 8-3/4" footprint

Recirculating bath, refrigerated, Model 2050W
size - 12-1/2" x 8-3/4" footprint

Check valve 1/8"

Check valve 1/8"

Check valve 1/8"

Check valve 1/8"

Velocity Refurb Kit with labor, in house
Description

Description

Description

120V, 60Hz, 11 amps, compact
120V, 60Hz, 11 amps, compact
. 220V, 60Hz, 11 amps, compact

. 220V, 60Hz, 11 amps, compact



